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100.0] 25.0] 75.0 -1 25.0] 50.0[ 50.0] 50.0 -
BBk HRAR
1 0 AR 1 1 - - - - - - -
100.0] 100.0 - - - - - - -
10~29A - - - - - - - - -
30~49A - - - - - - - - -
50~9 9 A - - - - - - - - -
100~299A 1 1 - - - - - - -
100.0] 100.0 - - - - - -
300~499A 1 1 - - - - - - -
100.0] 100.0 - - - - - - -
500~999A 4 2 2 2 1 2 1 1 -
100.0| 50.0| 50.0] 50.0| 25.0| 50.0| 25.0| 25.0 -
1, 000 ALLE 45 27 18 7 6 10 13 13 -
100.0] 60.0] 40.0] 15.6| 13.3] 22.2| 28.9| 28.9 -
INAFEFT O ET- 5 MR
JEE, bRGE - - - - - - - -
e - - - - - - - - -
SR, A%, WRIBRTCE 1 1 - - - - - - -
100.0/ 100.0 - - - - -
% 5 5 - - - - - - -
100.0] 100.0 - - - - - - -
e 31 21 10 5 3 6 7 7 -
100.0| 67.7| 32.3| 16.1| 9.7| 19.4| 22.6| 22.6 -
B - AR - BV - KBS 2 1 1 1 1 1 - - -
100.0| 50.0| 50.0| 50.0| 50.0| 50.0 - - -
1 o F 3 5 5 - - - - - - -
100.0/ 100.0 - - - - - - -
TR, TEE 4 2 2 2 - 2 2 2 -
100.0| 50.0| 50.0| 50.0 -| 50.0] 50.0| 50.0 -
ez, /e 9 4 5 1 2 2 4 4 -
100.0| 44.4| 55.6] 11.1| 22.2| 22.2| 44.4| 44.4 -
GRLE, PRIRCE 4 2 2 - - 1 1 1 -
100.0| 50.0| 50.0 - -| 25.0] 25.0] 25.0 -
RENPEE, WimEEE 3 3 - - — - - -
100.0/ 100.0 - - - - - -
FANERGE, TP - E— e R 2 2 - - - - - - -
100.0/ 100.0 - - - - - - -
1IN, e —tvR¥E 1 - 1 - - 1 - - -
100. 0 -1 100.0 - -1 100.0 - - -
AEVERE Y — o R, RS 1 1 - - - - - - -
100.0/ 100.0 - - - -
BE, THEBE - - - - - - - - -
PR3, Rt 2 - 2 - 1 1 2 2 -
100. 0 -1 100.0 -| 50.0| 50.0[ 100.0]| 100.0 -
HWEF—E AHHE - - - - - - -
PF—bR¥E (fhicyEshing 3 1 2 1 2 1 -
D) 100.0] 33.3] 66.7| 33.3] 33.3] 33.3| 66.7| 33.3 -
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SRS 48 6 40 2 53 8 44 1 47 2 43 2
100.0| 12.5| 83.3| 4.2 100.0| 15.1| 83.0| 1.9 100.0[ 4.3] 91.5| 4.3
FHARERERER G 45 6 37 2 48 7 40 1 43 2 39 2
100.0| 13.3| 82.2| 4.4 100.0| 14.6| 83.3| 2.1 100.0(  4.7| 90.7| 4.7
FHARERECR R (H—) 35 5 28 2 37 6 30 1 32 2 28 2
100.0| 14.3| 80.0| 5.7 100.0| 16.2| 81.1] 2.7 100.0| 6.3| 87.5| 6.3
FHA R (A - A 10 1 9 - 11 1 10 - 11 - 11 -
100.0] 10.0| 90.0 - 100.0]  9.1| 90.9 - 100. 0 -1 100.0 -
A E R ORI b 2 S B R R 1 - 1 1 - 1 1 1
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
[ RARFEAR IR A 1 - 1 - 3 1 2 - 2 - 2 -
100. 0 -1100.0 - 100.0] 33.3| 66.7 - 100. 0 -1 100.0 -
B LR R KA
1 0 A 1 - 1 - 1 - 1 - 1 - 1 -
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
10~29A - - - - - - - - - - - -
30~49A - - - - - - - - - - - -
50~9 9 A - - - - - - - - - - - -
100~299A 1 1 - - 1 - 1 - - - - -
100.0/| 100.0 - - 100. 0 -1 100.0 - - - - -
300~499A 2 - 2 - 2 - 2 - 2 2 -
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
500~999A 5 1 4 - 5 1 4 5 1 4
100.0] 20.0| 80.0 - 100.0] 20.0| 80.0 - 100.0| 20.0| 80.0 -
1, 000 AL 39 4 33 2 44 7 36 39 1 36 2
100.0] 10.3] 84.6] 5.1 100.0] 15.9] 81.8] 2.3 100.0]  2.6] 92.3] 5.1
PN E N SE i il
R 1 - 1 - 1 1 - 1 1 -
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
a3 1 - 1 - 1 - 1 1 - 1 -
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
PR, BRA¥E, WRIERICE 2 - 1 1 2 - 1 1 2 - 1 1
100. 0 -] 50.0| 50.0 100. 0 -| 50.0] 50.0 100. 0 -| 50.0] 50.0
AR 6 - 5 1 6 - 5 1 6 5 1
100. 0 -] 83.3] 16.7 100. 0 -| 83.3] 16.7 100. 0 -| 83.3] 16.7
PR 32 4 26 2 34 5 28 1 29 1 26 2
100.0| 12.5| 81.3| 6.3 100.0| 14.7| 82.4] 2.9 100.0[ 3.4| 89.7| 6.9
TR - A A - BMIERG - kEE 3 - 2 1 3 - 2 1 3 - 2 1
100. 0 -] 66.7| 33.3 100. 0 -| 66.7| 33.3 100. 0 -| 66.7| 33.3
15 Wl (s 3 6 - 5 1 6 - 5 1 6 - 5 1
100. 0 -] 83.3] 16.7 100. 0 -| 83.3] 16.7 100. 0 -| 83.3] 16.7
TG, BE¥E 4 1 2 1 4 1 2 1 3 - 2 1
100.0| 25.0| 50.0| 25.0 100.0| 25.0| 50.0] 25.0 100. 0 -| 66.7| 33.3
HE¥, b 7 - 6 1 10 1 8 1 8 - 7 1
100. 0 -] 85.7| 14.3 100.0| 10.0| 80.0| 10.0 100. 0 -| 87.5| 12.5
SREIZE, PRERZE 5 1 3 1 5 1 3 1 5 1 3 1
100.0| 20.0| 60.0] 20.0 100.0| 20.0| 60.0] 20.0 100.0[ 20.0| 60.0] 20.0
REEXE, MihEe¥E 4 - 3 1 4 - 3 1 4 - 3 1
100. 0 -] 75.0] 25.0 100. 0 -| 75.0] 25.0 100. 0 -| 75.0] 25.0
FHAESE, - Y — e R 3 3 - 2 1 3 - 2 1 3 - 2 1
100. 0 -] 66.7| 33.3 100. 0 -| 66.7| 33.3 100. 0 -| 66.7| 33.3
1IN, B —eR¥ 1 - 1 - 2 1 1 - 1 - 1 -
100. 0 -1 100.0 - 100.0| 50.0| 50.0 - 100. 0 -1 100.0 -
AETEBIE Y — B R, PR 2 - 1 1 2 - 1 1 2 - 1 1
100. 0 -] 50.0| 50.0 100. 0 -| 50.0] 50.0 100. 0 -| 50.0] 50.0
HBE, FEIARE 1 - 1 - 1 - 1 - 1 - 1 -
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
I, Rk 1 - 1 - 2 - 2 - 2 - 2 -
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
BOV—E AFE 1 - 1 - 1 - 1 - 1 - 1 -
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
PF—ERE (fhicoEshing 5 - 4 1 5 1 3 6 - 5 1
D) 100. 0 -] 80.0] 20.0 100.0] 20.0] 60.0] 20.0 100. 0 -| 83.3] 16.7
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100.0| 41.0| 56.4] 2.6 100.0| 38.1| 57.1] 4.8
FHARERECR R (H—) 29 12 16 1 32 12 18 2
100.0| 41.4| 55.2| 3.4 100.0| 37.5| 56.3| 6.3
FHA R (A - A 10 4 6 - 10 4 6 -
100.0| 40.0| 60.0 - 100.0| 40.0| 60.0 -
A [E G AR R 2 S (R B 1 - - 1 1 - 1
100. 0 - -1 100.0 100. 0 -1 100.0 -
[ RARFEAR IR A 3 - 3 - 3 - 3 -
100. 0 -1100.0 - 100. 0 -1.100.0 -
B LR R KA
1 0 AKTH 1 1 - - 1 1 - -
100.0| 100.0 - - 100. 0] 100.0 - -
10~29A - - - - - - - -
30~49A - - - - - - - -
50~9 9 A - - - - - - - -
100~299A 1 1 - - 1 1 - -
100.0/| 100.0 - - 100.0| 100.0 - -
300~499A 1 1 - - 2 1 1
100.0| 100.0 - - 100.0| 50.0| 50.0 -
500~999A 3 - 2 1 5 1 3 1
100. 0 -] 66.7| 33.3 100.0] 20.0| 60.0] 20.0
1, 000 AL 38 14 23 1 38 13 24 1
100.0] 36.8] 60.5| 2.6 100.0] 34.2] 63.2] 2.6
AT O ¥ 7= 2 SEFEH)
R, M 1 - = 1 1 1 =
100. 0 - -1 100.0 100. 0 -1 100.0 -
a3 1 - 1 1 - 1 -
100. 0 - -1 100.0 100. 0 -1 100.0 -
PR, BRA¥E, WRIERICE 3 1 1 1 3 - 2 1
100.0| 33.3| 33.3| 33.3 100. 0 -| 66.7| 33.3
AR 6 2 3 1 6 1 4 1
100.0| 33.3| 50.0| 16.7 100.0| 16.7| 66.7| 16.7
PR 26 13 11 2 28 13 13 2
100.0| 50.0| 42.3| 7.7 100.0| 46.4| 46.4| 7.1
TR - A A - BMIERG - kEE 2 1 - 1 2 - 1 1
100.0| 50.0 -1 50.0 100. 0 -| 50.0] 50.0
% W (= % 6 2 3 1 6 1 4 1
100.0| 33.3| 50.0| 16.7 100.0| 16.7| 66.7| 16.7
TG, BE¥E 4 2 1 1 4 1 2 1
100.0| 50.0| 25.0| 25.0 100.0| 25.0| 50.0] 25.0
HE¥, b 9 4 4 1 10 3 6 1
100.0| 44.4| 44.4] 11.1 100.0| 30.0| 60.0] 10.0
SREIZE, PRERZE 4 2 1 1 4 1 2 1
100.0| 50.0| 25.0| 25.0 100.0| 25.0| 50.0] 25.0
REEXE, MihEe¥E 4 2 1 1 4 1 2 1
100.0| 50.0| 25.0| 25.0 100.0| 25.0| 50.0] 25.0
FHAESE, - Y — e R 3 2 1 - 1 2 - 1 1
100.0| 50.0 -1 50.0 100. 0 -| 50.0] 50.0
1IN, B —eR¥ 1 - - 1 1 - 1 -
100. 0 - -1 100.0 100. 0 -1 100.0 -
AETEBIE Y — B R, PR 2 1 - 1 2 - 1 1
100.0| 50.0 -1 50.0 100. 0 -| 50.0] 50.0
HBE, FEIARE 1 - - 1 1 - 1 -
100. 0 - -1 100.0 100. 0 -1 100.0 -
[, Rk 3 - 2 1 3 - 3 -
100. 0 -] 66.7| 33.3 100. 0 -1 100.0 -
BwEF—eAEE 1 - - 1 1 - 1 -
100. 0 - -1 100.0 100. 0 -1 100.0 -
PF—ERE (fhicoEshing 4 3 - 1 3 1 1
D) 100.0] 75.0 -1 25.0 100.0| 33.3| 33.3] 33.3
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SRS 41 3 35 3 44 8 33 3 39 1 35 3
100.0| 7.3| 85.4| 7.3 100.0| 18.2| 75.0| 6.8 100.0[ 2.6| 89.7| 7.7
FHARERERER G 39 3 33 3 40 7 30 3 36 1 32 3
100.0| 7.7| 84.6] 7.7 100.0| 17.5| 75.0] 7.5 100.0[ 2.8| 88.9] 8.3
FHARERECR R (H—) 29 2 24 3 30 6 21 3 27 1 23 3
100.0| 6.9| 82.8] 10.3 100.0| 20.0| 70.0| 10.0 100.0| 3.7| 85.2| 11.1
FAIEHERER GRE - HA) 10 1 9 - 10 1 9 - 9 - 9 -
100.0] 10.0| 90.0 - 100.0] 10.0| 90.0 - 100. 0 -1 100.0 -
A E R ORI b 2 S B R R - - - - - - - - - - -
[ RARFEAR IR A 1 - - 3 1 2 - 2 - 2 -
100. 0 -1100.0 - 100.0] 33.3| 66.7 - 100. 0 -1 100.0 -
B LR R KA
1 0 AA 1 - 1 - 1 - 1 - 1 - 1 -
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
10~29A - - - - - - - - - - - -
30~49A - - - - - - - - - - - -
50~9 9 A - - - - - - - - - - - -
100~299A 1 - 1 - 1 - 1 - 1 - 1 -
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
300~499A 1 - 1 - 1 - 1 1 - 1
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
500~999A 4 - 3 1 4 - 3 1 3 2 1
100. 0 -] 75.0] 25.0 100. 0 -| 75.0] 25.0 100. 0 -| 66.7| 33.3
1, 000 ALLE 34 3 29 2 37 8 27 2 33 30 2
100.0] 8.8] 85.3] 5.9 100.0] 21.6] 73.0] 5.4 100.0] 3.0/ 90.9] 6.1
PN E N SE i il
R, M - - - - - - - - - - -
Wk - - - - - - - - - - - -
PR, BRA¥E, WRIERICE 1 1 - 1 - 1 - 1 - 1 -
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0
AR 5 - 5 - 5 - 5 - 5 - 5 -
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
PR 26 1 22 3 27 4 20 3 24 - 21 3
100.0| 3.8| 84.6] 11.5 100.0| 14.8| 74.1| 11.1 100. 0 -| 87.5| 12.5
TR - A A - BMIERG - kEE 2 - 2 - 2 - 2 - 2 - 2 -
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
% W (= % 5 - 5 - 5 - 5 - 5 - 5
100. 0 -1 100.0 - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
TG, BE¥E 4 1 3 - 4 1 3 - 2 - 2 -
100.0| 25.0| 75.0 - 100.0| 25.0| 75.0 - 100. 0 -1 100.0 -
HE¥, b 5 1 4 - 6 2 4 - 6 1 5 -
100.0| 20.0| 80.0 - 100.0| 33.3| 66.7 - 100.0| 16.7| 83.3 -
SR, PRI 2 - 2 - 3 1 2 - 2 - 2 -
100. 0 -1 100.0 - 100.0| 33.3| 66.7 - 100. 0 -1 100.0 -
REEXE, MihEe¥E 3 1 2 - 3 1 2 - 3 1 2 -
100.0| 33.3| 66.7 - 100.0| 33.3| 66.7 - 100.0| 33.3| 66.7 -
FHAESE, - Y — e R 3 2 - 1 1 2 - 1 1 2 - 1 1
100. 0 -] 50.0| 50.0 100. 0 -| 50.0] 50.0 100. 0 -| 50.0] 50.0
i, SRy A% - - - 1 1 - - - - - -
- - - - 100. 0| 100.0 - - - - - -
RGBT — e A, B 1 - 1 - 1 - 1 - 1 - 1 -
100. 0 -1 100.0 100. 0 -1 100.0 - 100. 0 -1 100.0 -
HBE, FEIARE - - - - - - - - - - - -
[, Rk - - - - 1 - 1 - 1 - 1 -
- - - - 100. 0 -1 100.0 - 100. 0 -1 100.0 -
BAEP—eAHE - - - - - - - - - - - -
P—ERE ISR D 2 - 2 - 2 1 1 - 2 - 2 -
D) 100. 0 -1100.0 - 100.0] 50.0] 50.0 - 100. 0 -1.100.0 -
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SRS 46 9 34 3 46 9 34 3
100.0| 19.6| 73.9] 6.5 100.0| 19.6| 73.9] 6.5
FHARERERER G 42 9 30 3 42 9 30 3
100.0| 21.4| 71.4] 7.1 100.0| 21.4| 71.4] 7.1
FHARERECR R (H—) 32 5 24 3 32 5 24 3
100.0| 15.6| 75.0] 9.4 100.0| 15.6| 75.0] 9.4
FHA R (A - A 10 4 6 - 10 4 6 -
100.0| 40.0| 60.0 - 100.0| 40.0| 60.0
A [E G AR R 2 S (R B - - - - - - - -
[ RARFEAR IR A 3 - 3 - 3 - 3 -
100. 0 -1100.0 - 100. 0 -1.100.0 -
B LR R KA
1 0 AKTH 1 1 - - 1 1 - -
100.0| 100.0 - - 100. 0] 100.0 - -
10~29A - - - - - - - -
30~49A - - - - - - - -
50~9 9 A - - - - - - - -
100~299A 1 - 1 - 1 - 1 -
100. 0 -1 100.0 - 100. 0 -1 100.0 -
300~499A 1 - 1 - 1 - 1 -
100. 0 -1 100.0 - 100. 0 -1 100.0 -
500~999A 3 - 2 1 3 - 2 1
100. 0 -] 66.7| 33.3 100. 0 -| 66.7| 33.3
1, 000 AL 40 8 30 2 40 8 30 2
100.0] 20.0] 75.0] 5.0 100.0] 20.0] 75.0] 5.0
PN E N SE i il
R, M - - - - - - -
Wk - - - - - - - -
L, RO, WRIBRTE 1 - 1 - 1 - 1 -
100. 0 -1 100.0 - 100. 0 -1 100.0 -
AR 5 1 4 - 5 1 4 -
100.0| 20.0| 80.0 - 100.0] 20.0| 80.0 -
PR 28 5 20 3 28 5 20 3
100.0| 17.9| 71.4| 10.7 100.0| 17.9| 71.4] 10.7
TR - A A - BMIERG - kEE 1 - 1 - 1 - 1 -
100. 0 -1 100.0 - 100. 0 -1 100.0 -
15 Wl (s 3 5 - 5 5 - 5
100. 0 -1 100.0 - 100. 0 -1 100.0 -
TG, BE¥E 4 1 3 - 4 1 3 -
100.0| 25.0| 75.0 - 100.0| 25.0| 75.0 -
HE¥, b 8 3 5 - 8 3 5 -
100.0| 37.5| 62.5 - 100.0| 37.5| 62.5 -
SR, PRI 3 1 2 - 3 1 2 -
100.0| 33.3| 66.7 - 100.0| 33.3| 66.7 -
REEXE, MihEe¥E 3 1 2 - 3 1 2 -
100.0| 33.3| 66.7 - 100.0| 33.3| 66.7 -
FHAESE, - Y — e R 3 2 - 1 1 2 - 1 1
100. 0 -] 50.0| 50.0 100. 0 -| 50.0] 50.0
1IN, B —eR¥ - - - - - - -
RGBT — e A, B 1 - 1 - 1 - 1 -
100. 0 -1 100.0 100. 0 -1 100.0 -
HBE, FEIARE - - - - - - - -
I, Rk 2 - 2 - 2 - 2 -
100. 0 -1 100.0 - 100. 0 -1 100.0 -
B —e 2R E - - - - - - - -
P—ERE ISR D 3 2 1 - 2 1 1 -
D) 100.0] 66.7] 33.3 - 100.0] 50.0| 50.0 -
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EN 48 32 12 1 3 53 38 11 1 3 47 33 9 1 4
100.0| 66.7| 25.0| 2.1| 6.3 100.0| 71.7| 20.8| 1.9] 5.7 100.0| 70.2| 19.1| 2.1| 8.5
FAA R 3t 45 30 11 1 3 48 34 10 1 3 43 30 8 1 4
100.0| 66.7| 24.4| 2.2| 6.7 100.0| 70.8| 20.8| 2.1| 6.3 100.0| 69.8| 18.6] 2.3| 9.3
FAA R (B—) 35 26 5 1 3 37 29 4 1 3 32 25 3 - 4
100.0| 74.3| 14.3] 2.9| 8.6 100.0| 78.4| 10.8| 2.7| 8.1 100.0| 78.1| 9.4 -] 12.5
FA R (G - HA) 10 4 6 - - 11 5 6 - - 11 5 5 1 -
100.0| 40.0| 60.0 - - 100.0| 45.5| 54.5 - - 100.0| 45.5| 45.5| 9.1
A EI R FE LR I 1 2 B A A R LR IR 1 - 1 - - 1 - 1 - 1 - 1 -
100. 0 -] 100.0 - - 100. 0 -] 100.0 - - 100. 0 -] 100.0 - -
[ R R A 1 1 - - - 3 3 - - - 2 2 - - -
100. 0] 100.0 - - - 100. 0| 100.0 - - - 100. 0| 100.0 - - -
B LR 75 AR R
1 0 Al 1 - 1 - - 1 - 1 - - - 1 - -
100. 0 -] 100.0 - - 100. 0 -] 100.0 - - 100. 0 -] 100.0 - -
10~29A - - - - - - - - - - - - - - -
30~49A - - - - - - - - - - - - - - -
50~99A - - - - - - - - - - - - - -
100~299A 1 1 - - - 1 1 - - - - - - - -
100. 0| 100. 0 - - - 100. 0| 100.0 - - - - - - - -
300~499A 2 2 - - - 2 2 - - - 2 2 - - -
100. 0| 100. 0 - - - 100. 0| 100.0 - - - 100. 0| 100.0 - - -
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T % - BTl WL | & T £ T 5 - T OB | E &
# WA =R | MR | o 7 £ W =R MR i | ol &
BT | EA K| ok ow BT O | 2A E| X oW
RN I N = 2 7 B BN W | R M| 2D
ESS 12 1 4 - 3 - - 6 1 11 4 7 - 2 - - 3 -
100.0] 8.3 33.3 -l 25.0 - -| 50.0] 8.3 100.0| 36.4| 63.6 - 18.2 - - 27.3 -
FAA R FF 10 1 3 - 3 - - 5 1 10 4 6 - 2 - - 3 -
100.0] 10.0[ 30.0 -1 30.0 - -l 50.0] 10.0 100.0| 40.0| 60.0 - 20.0 - - 30.0 -
AR (H—) 8 - 1 - 2 - - 5 1 7 2 4 - 1 - - 3 -
100. 0 - 12.5 -l 25.0 - -l 62.5] 12.5 100.0| 28.6| 57.1 - 14.3 - - 42.9 -
FAA R (d - H#E) 2 1 2 - 1 - - - - 3 2 2 - 1 - - - -
100.0| 50.0[ 100.0 -l 50.0 - - - - 100.0| 66.7| 66.7 -| 33.3 - - - -
A [EMRE R ORI i 2 7 S B LR R - - - - - - - - - - = = - - - - - -
[ R AE HECR B & 2 - 1 - - - - 1 - - 1 - - - - - -
100. 0 -|_50.0 - - - -1 50.0 - 100. 0 -1 100.0 - - - - - -
B PRI AR
1 0 Al - - - - - - - - - - - - - - - - - -
10~29A - - - - - - - - - - - - - - - - - -
30~49A - - - - - - - - - - - - - - - - - -
50~99A - - - - - - - - - - - - - - - - - -
100~299A 1 - - - 1 - - - - - - - - - - - - -
100. 0 - - - 100.0 - - - - - - - - - - - - -
300~499A - - - - - - - - - - - - - - - - - -
500~999A 1 - - - - - - 1 - - - - -
100. 0 - - - - - - 100.0 - - - - - - - - - -
1, 000 AME 10 1 4 - 2 - - 5 1 11 4 7 - 2 - - 3 -
100.0] 10.0[ 40.0 -1 20.0 - -] 50.0] 10.0 100.0] 36.4| 63.6 - _18.2 - - 273 -
AR O T % FEFER
JEE, MR - - - - - - - - - - - - - - - - - -
a3 - - - - - - - - - - - - - - - - - -
¥, BO¥E, WRIERBCE 1 - - - - - 1 - - = = - - - - -
100. 0 - - - - - - 100.0 - - - - - - - - -
MR - - - - - - - - - - - - - - - - - -
S 6 - 1 - 2 - - 4 - 6 1 3 - - - - 3 -
100. 0 - 16.7 -l 33.3 - -l 66.7 - 100.0| 16.7| 50.0 - - - - 50.0 -
HA - A - BMILES - KB - - - - - - - - - 1 1 - = - - - -
- - - - - - - - - 100. 0| 100.0 - - - - - -
1 Hom (s 3% - - - - - - - - - - - - - - - - - -
TR, B 3 1 2 - 1 - - 1 - 2 2 2 - 2 - - - -
100.0] 33.3| 66.7 -l 33.3 - -l 33.3 - 100. 0| 100.0| 100.0 - 100.0 - - - -
H7EsE, /e 2 - 2 - - - - 1 - 1 - 1 - - - - - -
100. 0 -| 100.0 - - - -l 50.0 - 100. 0 - 100.0 - - - - - -
S, PR - - - - - - - - - - - - - - - - - -
AT EE, Wi ERE - - - - - - - - - - - - - - - - - -
FIRTTE, M - iR — e 2 - - - - - - - - - - - - - - - - - -
A, SR —E A% 1 - 1 - - - - - - 1 - 1 - - - - - -
100. 0 - 100.0 - - - - - - 100. 0 - 100.0 - - - - - -
ER IR = S T S - - - - - - - - - - - - - - - - -
EGESET =1 - - - - - - = - - - - - - - - - = =
I, Ak 1 - - - - - - 1 - - - - - - - - - -
100. 0 - - - - - - 100.0 - - - - - - - - - -
BEY—e R - - - - - - - - - - - - - - - - - -
P RE ficpBshiang - - - - - - - - - 1 - 1 - - - - - -
D) - - - - - - - - - 100. 0 -1 100.0 - - - - - -
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B2 BERIEEDHILAREZDERIKR (FR2TEE) IZTDNVTEEZLIESLY,
B ERBRETERLTVDEVAABRBORRICOVTEEZLEEL,
(5) AARZEERELTLVENER (ZBHAAIZDONT, ZHEE£TIZO)

[(HREE] QOiLrA
[P LR R DO FESE R B R, TR AL (%)

BB AT [LBE Ll (e & z
DA B |RER To |mFEA < 2] pi3
[ TR L oe WDATER W (W R I fth B
9 Ll TN o 2k |3 %
[ it WE |O0%HE T D E H
[ T 5 - BTl WL | & T
E WA 2R | MR Iz Mol 7
% T Ol | A OE| KL
W AN | &R M| D
ESS 9 4 7 - 2 - - 1 -
100.0| 44.4| 77.8 - 22.2 - - 1Ll -
FAA R FF 8 4 6 - 2 - - 1 -
100.0| 50.0[ 75.0 -l 25.0 - -l 125 -
AR (H—) 5 2 4 - 1 - - 1 -
100.0| 40.0[ 80.0 -1 20.0 - -1 20.0 -
AR (g - HE) 3 2 2 - 1 - - - -
100.0| 66.7| 66.7 -l 33.3 - - - -
A [EMRE R ORI i 2 7 S B LR R - - - - - - - - -
[ R PR L & i - 1 - - - - - -
100. 0 - 100.0 - - - - - -
B PRI AR
1 0 Al - - - - - - - - -
10~29A - - - - - - - - -
30~49A - - - - - - - - -
50~9 9 A - - - - - - - - -
100~299A - - - - - - - - -
300~499A - - - - - - - - -
500~999A - - - - - - - - -
1, 000ALLE 9 4 7 - 2 - - 1 -
100.0| 44.4| 77.8 - 22.2 - - 111 -
INAFZEFT O E T2 % FEFER
JEE, MR - - - - - - - - -
a3 - - - - - - - - -
¥, BO¥E, WRIERBCE - - - - - - - - -
AR - - - - - - - - -
R 4 1 3 - - - - 1 -
100.0| 25.0[ 75.0 - - - -l 25.0 -
HA - A - BMILES - KB 1 1 - - - - - - -
100. 0| 100.0 - - - - - - -
[ e - - - - - - - - -
TR, B 2 2 2 - 2 - - - -
100. 0] 100.0{ 100.0 - 100.0 - - - -
HITE¥E, NE¥E 1 - 1 - - - - - -
100. 0 -| 100.0 - - - - - -
BRI, IRIRCGE - - - - - - - - -
AWhPES, P IEYE - - - - - - - - -
FIRTTE, M - iR — e 2 - - - - - - - - -
fEin, MR —e 2 1 - 1 - - - - - -
100. 0 - 100.0 - - - - - -
NGB — e A, R - - - - - - - - -
EGESET =1 - - - = - - - - -
[, fadk - - - - - - - - -
HEY—e A - - - - - - - - -
Pt 2¥E (oI nieny 2 - 2 - - - - - -
D) 100. 0 -1 100.0 - - - - - -
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2 BERREDOHSARZ DRMINR (FR2TERE) IOV TEEALEZSL,

B ERBRETERLTVDEVAABRBORRICOVTEEZLEEL,

JOZAKHERR (ERRRERE

(5) AABRBERIEL TLENEE (BAAILONT, %82 TIZO)
(#HxEE] QEBA QRGBS A
AR O Rk B A, R B AR (%) B g T B I (%)
BB AT |LZE Ll (Hicn & z BB AT [CRE Lk [ & z
= (DA RE [RER T [REA < 2] e (DA RE |REWR T |[REA 2] fi3
# JAR L oe [WDATER W E Wi (S ity Gl 9 T L oo OATER] W E (W R IS ftty [
53 LR TN |22 2k 233 = % [0S LR TAN|[ZoB| 2k |23 % = %
g i WA WR#E| 2T DR E H [ N WH (DRHE| 2T (DRE B
* T 5 - BTl WL | & T T % ST OB | & T
£ WA 2R | MDY | ol 2 W 2R | MR | ol A&
BT | EA K| ok ow BT O | 2A E| X oW
AF = I/ % B O /N Wl Y| R M| 2D
ESS 14 3 6 1 1 1 - 4 2 10 3 4 1 1 1 2 1
100.0] 21.4| 42.9] 7.1 7.1] 7.1 -l 28.6] 14.3 100.0| 30.0| 40.0| 10.0| 10.0| 10.0 20.0/ 10.0
FAA R FF 10 3 5 1 - 1 - 2 2 8 3 4 1 - 1 1 1
100.0] 30.0| 50.0/ 10.0 10.0 -l 20.0] 20.0 100.0| 37.5| 50.0] 12.5 12.5 12.5| 12.5
AR (H—) 7 1 3 1 - - 2 2 5 1 2 1 - 1 1
100.0] 14.3| 42.9] 14.3 - - -| 28.6] 28.6 100.0] 20.0| 40.0[ 20.0 - - 20.0] 20.0
FAA R (d - H#E) 3 2 2 - - 1 - - - 3 2 2 - - 1 - -
100.0| 66.7| 66.7 - -l 33.3 - - - 100.0| 66.7| 66.7 - -| 33.3 - -
A [EMRE R ORI i 2 7 S B LR R 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
[ R AE HECR B & 3 - 1 - - - - 2 - 1 - - - - - 1 -
100. 0 -| 33.3 - - - - 66.7 - 100. 0 - - - - - 100. 0 -
B A
1 0 Al - - - - - - - - - - - - - - - - -
10~29A - - - - - - - - - - - - - - - - -
30~49A - - - - - - - - - - - - - - - - -
50~99A - - - - - - - - - - - - - - - - -
100~299A - - - - - - - - - - - - - - - - -
300~499A 1 - - - - - - - 1 1 - - - - - - 1
100. 0 - - - - - - - 100.0 100. 0 - - - - - -1 100.0
500~999A 1 1 - - 1 1 -
100. 0 - - 100.0 - - - - - 100. 0 - - 100.0 - - - -
1, 000 AME 12 3 6 - 1 1 - 4 1 8 3 4 - 1 1 2 -
100.0] 25.0[ 50.0 - 83 8.3 -] 33.3] 8.3 100.0] 37.5| 50.0 - 12.5] 12.5 25.0
AR O T % FEFER
¥, W 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
[EES 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
¥, BO¥E, WRIERBCE 1 - - 1 - - 1 1 - -
100. 0 - - 100.0 - - - 100. 0 - - 100.0 - - -
R 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
T 7 1 3 1 1 - - 2 1 5 1 2 1 1 - 1 -
100.0] 14.3| 42.9] 14.3] 14.3 - -l 28.6] 14.3 100.0] 20.0| 40.0| 20.0] 20.0 - 20.0 -
HA - A - BMILES - KB 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
(5 1 - - - 1 - - - - 1 - - - 1 - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
T, BEE 2 1 1 - 1 - - - - 2 1 1 - 1 - E E
100.0| 50.0[ 50.0 -l 50.0 - - - - 100.0| 50.0| 50.0 -l 50.0 - - -
H7EsE, /e 4 - 2 - 1 - - 1 1 2 - - - 1 - - 1
100. 0 - 50.0 -l 25.0 - -l 25.0] 25.0 100. 0 - - -l 50.0 - - 50.0
R, PRBCE 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
REPERE, Wi R 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
FIRTTE, M - iR — e 2 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
fEin, MR —e 2 2 - 1 - 1 - - - - 1 - - - 1 - - -
100. 0 - 50.0 -l 50.0 - - - - 100. 0 - - - 100.0 - - -
AR — B R, PR 1 - - - 1 - - - 1 - - - 1 - -
100. 0 - - - 100.0 - - - 100. 0 - - - 100.0 - - -
EGESET =1 1 - - - 1 - - - - 1 - - = 1 - - =
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
[, fadk 3 - - - 1 - - 2 - 2 - - - 1 - 1 -
100. 0 - - -l 33.3 - -l 66.7 - 100. 0 - - -l 50.0 - 50. 0 -
BWAEF—EAHE 1 - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
- 2¥E (oIS nisnd 4 1 1 1 1 - - - 4 1 1 1 1 1 - -
D) 100.0] 25.0] 25.0] 25.0/ 25.0] 25.0 - - - 100.0] 25.0| 25.0| 25.0] 25.0] 25.0 - -
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2 BERREDOHSARZ DRMINR (FR2TERE) IOV TEEALEZSL,

B ERBRETERLTVDEVAABRBORRICOVTEEZLEEL,

JOZAKHERR (ERRRERE

(5) MARBEEBLTOVGENER(ZENAITDONT, ZELTIZO)
(k] Qliinia QFEES A
AR O Rk B A, R B AR (%) B R, TR AL (%)
BB AT [LBE Ll (e & kS BN AT [L2E L |bicn & k&
= (DA RE [RER T [REA < 2] e (DA RE |REWR T |[REA 2] fi3
# JAR L oe [WDATER W E Wi (S fth, Gl 9 T L oo OATER] W E (W R IS ftty [
53 LR TN |22 2k 233 = % [0S LR TAN|[ZoB| 2k |23 % = %
g i WA WR#E| 2T DR E H [ N WH (DRHE| 2T (DRE B
* T 5 - BTl WL | & T T 5 - ST OB | & T
£ WA 2R | MDY | ol 2 W 2R | MR | ol A&
72 T Wi [V == I N B 72T i Aol FE| X W
AF = I/ % B O /N Wl Y| R M| 2D
ESS 16 3 7 1 1 1 - 6 1 11 3 5 1 1 - 2 1
100.0| 18.8| 43.8] 6.3] 6.3 6.3 - 37.5] 6.3 100.0| 27.3| 45.5| 9.1] 9.1 - 18.2 9.1
FAA R FF 13 3 6 1 - 1 - 5 1 9 3 4 1 - - 2 1
100.0] 23.1| 46.2] 7.7 7.7 -l 38.5] 1.7 100.0| 33.3| 44.4| 11.1 - - 22.2] 11.1
AR (H—) 9 1 3 1 - - 5 1 6 1 2 1 - - 2 1
100.0] 11.1| 33.3] 11.1 - - -| 55.6] 11.1 100.0| 16.7| 33.3| 16.7 - - 33.3] 16.7
FAA R (d - H#E) 4 2 3 - - 1 - - - 3 2 2 - - - - -
100.0| 50.0[ 75.0 - -l 25.0 - - - 100.0| 66.7| 66.7 - - - - -
A [EMRE R ORI i 2 7 S B LR R 1 - - - 1 - - - - 1 - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
[ R AE HECR B & 2 - 1 - - - - 1 - 1 - 1 - - - - -
100. 0 -|_50.0 - - - -1 50.0 - 100. 0 -1 100.0 - - - - -
B A
10 AR T 1 1 1 1 1 T T - T 1 1T T T - T -
10~29A - - - - - - - - - - - - - - - - -
30~49A - - - - - - - - - - - - - - - - -
50~99A - - - - - - - - - - - - - - - - -
100~299A - - - - - - - - - - - - - - - - -
300~499A 1 - - - - - - - 1 1 - - - - - - 1
100. 0 - - - - - - - 100.0 100. 0 - - - - - -1 100.0
500~999A 2 1 - 1 - 1 1 - -
100. 0 - -1 50.0 - - -l 50.0 - 100. 0 - - 100.0 - - - -
1, 000ALLE 13 3 7 - 1 1 - 5 - 9 3 5 - 1 - 2 -
100.0] 23.1| 53.8 - 71l 1.7 -] 38.5 100.0] 33.3| 55.6 - 111 - 22.2
AR O T % FEFER
¥, W i - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
[EES 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
¥, BO¥E, WRIERBCE 1 - - 1 - - - 1 1 - -
100. 0 - - 100.0 - - - - 100. 0 - - 100.0 - - -
R 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
R 8 1 3 1 1 - - 4 - 6 1 2 1 1 - 2 E
100.0| 12.5| 37.5| 12.5| 12.5 - -l 50.0 - 100.0| 16.7| 33.3| 16.7| 16.7 - 33.3 -
HA - A - BMILES - KB 1 - - - 1 - - - - 2 1 - - 1 - - -
100. 0 - - - 100.0 - - - - 100.0| 50.0 - -l 50.0 - - -
(5 1 - - - 1 - - - 1 - - 1 - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
T, BEE 4 1 2 - 1 - - 1 - 2 1 1 - 1 - E E
100.0] 25.0[ 50.0 -l 25.0 - -l 25.0 - 100.0| 50.0| 50.0 -l 50.0 - - -
Hze¥, hre¥ 4 - 2 - 1 - - 1 1 3 - 1 - 1 - - 1
100. 0 - 50.0 -l 25.0 - -l 25.0] 25.0 100. 0 -| 33.3 -| 33.3 - - 33.3
R, PRBCE 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
REPERE, Wi R 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
FIRTTE, M - iR — e 2 1 - - - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
fEin, MR —e 2 2 - 1 - 1 - - - - 2 - 1 - 1 - - -
100. 0 - 50.0 -l 50.0 - - - - 100. 0 -l 50.0 -l 50.0 - - -
AR — B R, PR 1 - - - 1 - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
EGESET =1 1 - - - 1 - - - - 1 - - = 1 - - =
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
[, fadk 2 - - - 1 - - 1 - 1 - - - 1 - - -
100. 0 - - -l 50.0 - -l 50.0 - 100. 0 - - - 100.0 - - -
BWAEF—EAHE 1 - 1 - - - - 1 - - - 1 - - -
100. 0 - - - 100.0 - - - - 100. 0 - - - 100.0 - - -
- 2¥E (oIS nisnd 4 1 1 1 1 - - - 3 - 1 1 1 - - -
D) 100.0] 25.0] 25.0] 25.0/ 25.0] 25.0 - - - 100. 0 -| 33.3] 33.3] 33.3 - - -
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B2 BERIEEDHILAREZDERIKR (FR2TEE) IZTDNVTEEZLIESLY,
B ERBRETERLTVDEVAABRBORRICOVTEEZLEEL,
(5) AARZEERELTLVENER (ZBHAAIZDONT, ZHEE£TIZO)

(#HHE\EE] QLA
RO O FESER B PR TR R (%)

BB AT |LZE Ll (Hicn & z
= (DA RE [RER T [REA < 2] pi3
#E JAR L oe [WDATER W E Wi (S ity Gl
53 Ll TN o 2k |3 %
[£3 it WE |O0%HE T D E H
* T 5 - BTl WL | & T
% WA 2R | MR Iz Mol 7
T Ol | A OE| KL
W AN | &R M| D
ESS 12 3 6 1 1 - - 2 1
100.0] 25.0] 50.0/ 8.3 8.3 - - 16.7] 8.3
FAA R FF 10 3 5 1 - - - 2 1
100.0] 30.0| 50.0/ 10.0 - -l 20.0] 10.0
AR (H—) 7 1 3 1 - - - 2 1
100.0] 14.3| 42.9] 14.3 - - -| 28.6] 14.3
AR (g - HE) 3 2 2 - - - - - -
100.0| 66.7| 66.7 - - - - - -
A [EMRE R ORI i 2 7 S B LR R 1 - - - 1 - - - -
100. 0 - - - 100.0 - - - -
[ R PR L & 1 - 1 - - - - - -
100. 0 - 100.0 - - - - - -
B A
1 0 Al - - - - - - - - -
10~29A - - - - - - - - -
30~49A - - - - - - - - -
50~9 9 A - - - - - - - - -
100~299A - - - - - - - - -
300~499A 1 - - - - - - - 1
100. 0 - - - - - - - 100.0
500~999A 2 1 - - 1 -
100. 0 - -1 50.0 - - -l 50.0 -
1, 000AME 9 3 6 - 1 - - 1 -
100.0] 33.3| 66.7 - 111 - - 111
JNAEEZERT D 1272 2% 35 R
JEE, MR 1 - - - 1 - - - -
100. 0 - - - 100.0 - - - -
i 1 - - - 1 - - - -
100. 0 - - - 100.0 - - - -
¥, BO¥E, WRIERBCE 1 - - 1 - - -
100. 0 - - 100.0 - - -
AR 1 - - - 1 - - - -
100. 0 - - - 100.0 - - - -
R 7 1 3 1 1 - - 2 -
100.0] 14.3| 42.9] 14.3] 14.3 - -l 28.6 -
HA - A - BMILES - KB 2 1 - - 1 - - - -
100.0| 50.0 - -l 50.0 - - - -
[ e 1 - - - 1 - - -
100. 0 - - - 100.0 - - - -
T, BEE 2 1 1 - 1 - - - -
100.0| 50.0[ 50.0 -l 50.0 - - - -
Hze¥, hre¥ 3 - 1 - 1 - - - 1
100. 0 - 33.3 -l 33.3 - - -| 33.3
BRI, IRIRCGE 1 - - - 1 - - - -
100. 0 - - - 100.0 - - - -
AT EE, Wi ERE 1 - - - 1 - - - -
100. 0 - - - 100.0 - - - -
FIRTTE, M - iR — e 2 1 - - - 1 - - - -
100. 0 - - - 100.0 - - - -
fEin, MR —e 2 2 - 1 - 1 - - - -
100. 0 - 50.0 -l 50.0 - - - -
AR — B R, PR 1 - - - 1 - - - -
100. 0 - - - 100.0 - - - -
EGESET =1 1 - - - 1 - - - -
100. 0 - - - 100.0 - - - -
[, fadk 1 . = - 1 = - - -
100. 0 - - - 100.0 - - - -
HEY—e A 1 - - - 1 - - - -
100. 0 - - - 100.0 - - - -
P RE (IZHBEIhn g 4 - 1 1 - - - -
D) 100. 0 -|_50.0] 25.0] 25.0 - - - -
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IOREFERER (ERERKRERE)
B2 EREBONABRZOERIKR CER2TEE) ITDONWTEEALESLY,
B ER/BRETEELTVAEVWSNABRZORRIZOVTEEZLIEEL,
(6) MMDEEESTONAREZDZEZHRITIHEAIZDOLNT(EELLTIZO)

= AR B D FRLE | B EE R ER AR (%)
T 1T
= | 26 | ~Zif~% AN~1T%F ~ b3
B ThH (NBZITNEIMN 2o T A
| W [REMGRD FFRTH v &
B AE| T8 T T T wo| A
£ M| DA Wzl BE W
28 B Th 5O il
Y- F A
5D H %
2 K 25 20 8 15 5 4 1
100.0| 80.0| 32.0| 60.0| 20.0| 16.0| 4.0
FEA R R B 21 16 7 12 4 4 1
100.0| 76.2| 33.3| 57.1| 19.0| 19.0| 4.8
FAA R (F—) 15 12 6 9 4 2 1
100.0| 80.0| 40.0| 60.0| 26.7| 13.3] 6.7
AR (Rh - #E) 6 4 1 3 - 2 -
100.0| 66.7| 16.7| 50.0 -] 33.3 -
A [ERERRE DR IR T 8 S R e (R B 1 1 1 - 1 -
100.0] 100.0| 100.0 -1.100.0 - -
[ BAE R B A 3 3 - 3 - - -
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100. 0 - - - -1.100.0 -
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[s53 1 1 1 - 1 - -
100.0] 100.0| 100.0 -1 100.0 - -
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100.0| 84.6| 46.2| 61.5| 38.5| 15.4 -
BR - AR - BV - KB 2 2 1 1 1 - -
100.0] 100.0| 50.0] 50.0| 50.0 - -
1 o 5 3 1 1 1 - 1 - -
100.0] 100.0| 100.0 -1100.0 - -
TR, TEE 4 3 2 1 1 1 -
100.0| 75.0| 50.0| 25.0| 25.0| 25.0 -
ez, /e 5 5 2 3 2 - -
100.0] 100.0| 40.0| 60.0| 40.0 - -
GRLE, PRIRCE 1 1 1 - 1 - -
100.0] 100.0| 100.0 -1 100.0 - -
REEE, WihEe¥E 1 1 1 - 1 - -
100.0] 100.0| 100.0 -1 100.0 - -
FANERGE, TP - E— e R 1 1 1 - 1 - -
100.0] 100.0| 100.0 -1 100.0 - -
1IN, e —EvR¥E 2 2 1 1 1 - -
100.0] 100.0| 50.0] 50.0| 50.0 - -
AVH B — R, R 1 1 1 - 1 - -
100.0] 100.0| 100.0 -1 100.0 - -
BE, FHEBE 1 1 1 - 1 - -
100.0] 100.0| 100.0 -1 100.0 - -
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100.0] 100.0| 33.3| 66.7| 33.3 - -
WEYV— A FE 1 1 1 - 1 - -
100.0] 100.0| 100.0 -1 100.0 - -
PF—bR¥E (fhicoEshing 5 3 2 1 2 -
D) 100.0] 60.0] 40.0] 20.0] 20.0] 40.0 -
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100.0] 100.0| 100.0 - - - - - 100. 0| 100.0 - - -
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100.0] 100.0| 100.0 - - - - - 100.0| 100.0| 50.0| 50.0 -
HBE, FEIARE 1 1 1 - - - - - 1 1 - - -
100.0] 100.0| 100.0 - - - - - 100. 0| 100.0 - - -
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100.0] 100.0| 100.0 - - - - - 100. 0| 100.0 - - -
BOV—E AFE 1 1 1 - - - - - 1 1 - - -
100.0] 100.0| 100.0 - - - - - 100. 0| 100.0 - - -
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D) 100.0] 100.0] 60.0 - - - - - 100.0] 100.0| 20.0] 20.0 -
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100.0| 50.0 - -1 50.0 - 100.0| 100.0| 33.3 - - - -
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100.0| 83.3| 16.7 -1 16.7 - 100.0| 83.3| 33.3| 16.7| 16.7 - 16.7
PR 29 26 3 4 2 - 26 21 9 2 - - 1
100.0| 89.7| 10.3] 13.8] 6.9 - 100.0| 80.8| 34.6] 7.7 - -l 3.8
TR - A A - BG-GB E 3 2 - - 1 - 2 2 1 - - -
100.0| 66.7 - -] 33.3 - 100.0{ 100.0| 50.0 - - - -
% W (= % 6 5 - 1 1 - 6 6 3 - - - -
100.0| 83.3 -] 16.7| 16.7 - 100.0{ 100.0| 50.0 - - - -
TG, BE¥E 3 2 - - 1 - 4 4 1 - - - -
100.0| 66.7 - -] 33.3 - 100.0| 100.0| 25.0 - - - -
HE¥, b 8 7 - 1 2 - 9 8 3 1 - 1 -
100.0| 87.5 -] 12.5| 25.0 - 100.0| 88.9]| 33.3| 11.1 - 111 -
L, RBE 5 3 - - 2 1 4 4 2 - - - .
100.0| 60.0 - -] 40.0| 20.0 100.0| 100.0| 50.0 - - - -
REEXE, MihEe¥E 4 2 1 1 - 4 2 2 - - 1 -
100.0| 50.0| 25.0 -1 25.0 - 100.0| 50.0| 50.0 - -| 25.0 -
FHARGE, H - Bl — e R 3 2 - - 1 - 2 2 1 - - - -
100.0| 66.7 - -] 33.3 - 100.0| 100.0| 50.0 - - - -
i, SRy A% 1 1 - - - - 1 1 - - - - -
100. 0| 100.0 - - - - 100. 0| 100.0 - - - - -
AETEBIE Y — B R, PR 2 1 - - 1 - 2 2 1 - - - -
100.0| 50.0 - -1 50.0 - 100.0| 100.0| 50.0 - - - -
BE, FEER 1 1 - - - - 1 1 - - - . -
100. 0| 100.0 - - - - 100. 0| 100.0 - - - - -
[, Rk 2 2 1 - - - 3 3 - 1 - - -
100.0] 100.0| 50.0 - - - 100. 0| 100.0 -| 33.3 - - -
BEEF— b ARE 1 1 - - - - 1 1 - - - - -
100. 0| 100.0 - - - - 100. 0| 100.0 - - - -
PF—ERE (fhicoEshing 6 5 - - 1 - 4 3 2 - - - -
D) 100.0] 83.3 - -1 16.7 - 100.0] 75.0| 50.0 - - - -
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100.0| 100.0 - - - - 100.0| 100.0 - - - - -
500~999A 3 3 - - - - 3 3 - - - - -
100.0| 100.0 - - - - 100.0| 100.0 - - - - -
1, 000 AL 33 32 3 3 - - 40 31 16 2 - 2 3
100.0] 97.0] 9.1] 9.1 - - 100.0| 77.5| 40.0] 5.0 -] 5.0 7.5
PN E N SE i il
B, ¥ - - - - - - - - - - - - -
BES - - - - - - - - - - - - -
BRI, RO, WAERIRE 1 1 - - - 1 1 1 - - -
100.0| 100.0 - - - - 100.0| 100.0| 100.0 - - - -
R 5 5 1 - - - 5 4 2 1 1 - 1
100.0| 100.0| 20.0 - - - 100.0| 80.0| 40.0| 20.0| 20.0 -1 20.0
PR 24 24 1 3 - - 28 22 11 2 - 1 3
100.0| 100.0| 4.2| 12.5 - - 100.0| 78.6| 39.3| 7.1 -l 3.6] 10.7
TR - A A - BG-GB E 2 2 - - - - 1 1 1 - - - -
100.0| 100.0 - - - - 100.0| 100.0| 100.0 - - - -
[EEEES 5 5 - 1 - - 5 5 3 - - -
100.0| 100.0 -] 20.0 - - 100.0/| 100.0| 60.0 - - - -
R, B 2 2 - - - - 4 3 2 - - - -
100.0| 100.0 - - - - 100.0| 75.0| 50.0 - - - -
HE¥, b 6 6 - 1 - - 8 7 3 1 - 1 -
100.0| 100.0 -l 16.7 - - 100.0| 87.5| 37.5| 12.5 - 12.5 -
SREIZE, PRERZE 2 2 - - - - 3 3 2 - - - -
100. 0| 100.0 - - - - 100.0| 100.0| 66.7 - - - -
REEXE, MihEe¥E 3 2 1 - - 3 1 2 - 1 -
100.0| 66.7| 33.3 - - 100.0| 33.3| 66.7 - -] 33.3 -
PR, R - i — e R 2 2 - - - - 2 2 2 - - - -
100. 0| 100.0 - - - - 100.0{ 100.0| 100.0 - - - -
EH¥E, e —exE - - - - - - - - - - - - -
RGBT — e A, B 1 1 - - - - 1 1 1 - - - -
100. 0| 100.0 - - - - 100. 0| 100.0| 100.0 - - - -
HBE, FEIARE - - - - - - - - - - - - -
9%, fEhlk 1 1 1 - - - 2 2 - 1 - - -
100.0] 100.0| 100.0 - - - 100.0| 100.0 -1 50.0 - - -
BOT—CAFE - - - - - - - - - - - - -
P—ERE ISR D 2 2 - - - - 3 2 1 - - - 1
D) 100.0] 100.0 - - - - 100.0] 66.7| 33.3 - - -] 33.3
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IJOREFHERR (EERRERE)
B8 BRREBTEHRLEENABRZOREEREAERVZZIKR (ER2TEE) IOV TEEZLIESLY,
(EfFELTWAEVLWEDIZD2NTIEK., BEEFETT, )
QREAEEELTIZO)
[#EEE] QLA

©

[ SR [ D FRSER| LB, TER AR (%)
~ 1 T H %
% v fist I E | o b3
9k = 2| T |
1 7 e &
63 7 3
2 - —
Eg A -
SRS 46 34 30 36 6 1
100.0| 73.9| 65.2] 78.3] 13.0| 2.2
FHARERER R F 42 30 27 32 6 1
100.0| 71.4| 64.3] 76.2| 14.3| 2.4
FHARERECR R (H—) 32 21 18 24 5 1
100.0| 65.6| 56.3| 75.0] 15.6| 3.1
FHA R (A - A 10 9 9 8 1 -
100.0| 90.0| 90.0| 80.0| 10.0 -
A [E G AR R 2 S (R B - - - - - -
[ RARFEAR IR A 3 3 2 3 - -
100.0] 100.0] 66.7] 100.0 - -
B LR R KA
1 0 AA 1 1 1 1 - -
100.0| 100.0| 100.0| 100.0 - -
10~29A - - - - - -
30~49A - - - - - -
50~99A - - - - - -
100~299A 1 1 1 1 - -
100.0| 100.0| 100.0| 100.0 - -
300~499A 1 1 1 1 - -
100.0| 100.0| 100.0| 100.0 - -
500~999A 3 1 1 2 1
100.0| 33.3| 33.3| 66.7| 33.3 -
1, 000 AL 40 30 26 31 5
100.0| 75.0| 65.0] 77.5| 12.5| 2.5
PN E N SE i il
B, ¥ - - - -
BES - - - - -
L, RO, WRIBRTE 1 1 1 1 - -
100.0| 100.0| 100.0| 100.0 - -
AR 5 4 4 4 2
100.0| 80.0| 80.0| 80.0| 40.0 -
PR 28 20 17 22 4 1
100.0| 71.4| 60.7| 78.6| 14.3| 3.6
TR - A A - BG-GB E 1 1 1 1 - -
100.0| 100.0| 100.0| 100.0 - -
15 Wl (s 3 5 4 5 4 - -
100.0| 80.0] 100.0| 80.0 - -
TG, BE¥E 4 4 3 3 - -
100.0| 100.0| 75.0| 75.0 - -
HE¥, b 8 6 6 6 1 -
100.0| 75.0| 75.0] 75.0| 12.5 -
L, RBE 3 3 3 3 - -
100.0] 100.0| 100.0| 100.0 - -
REhPEE, HihERE 3 1 1 2 1 -
100.0| 33.3] 33.3| 66.7| 33.3 -
PR, R - i — e R 2 2 2 2 - -
100.0] 100.0| 100.0| 100.0 - -
1IN, B —eR¥ - - - - -
AETEBIE Y — B R, PR 1 1 1 1 - -
100.0] 100.0| 100.0| 100.0 - -
HBE, FEIARE - - - - - -
9%, fEhlk 2 2 1 2 - -
100.0] 100.0| 50.0] 100.0 - -
B —e 2R E - - - - - -
P—ERE ISR D 2 2 2 2 - -
D) 100.0] 100.0] 100.0] 100.0 - -
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JOZAKHERR (ERRRERE

PR(NREH R %?&@%ﬁﬂ?ﬁ\bﬁﬂj ENENOEEE LR

[Eﬁﬁ@%@#h& SR BREICEITAHZEE ]
(#REEE]
ERREEDORER (EEEEERLC)
= PN Jiti
iR % i
vy VN )
)
RIS | S | ZRE | 2R | RREE | IR | ZRER | ZRE | RREE | IREk | ZREk | 2%
(%0 (N) (N) (%) (%0 0N (N) (%) (%0 (N) ON] (%)
ESEN 35| 931,733 371,131 39.8 39| 947,347| 445,393 47. 34| 984,592| 495,098 50. 3
FHAMERRIRBR  Fl 32| 273,529| 174,444 63.8 34| 264,109 195, 169 73. 30| 303,521 211,760 69. 8
FHA BRI (B—) 24| 194,454| 126,920 65.3 26| 198,594| 154,082 7. 21| 199,964| 134,469 67.2
FHAEERMRIR (G - HE) 8 79, 075 47,524 60. 1 8 65,515 41, 087 62. 9| 103,557 77, 291 74.6
ERERERIR I iﬁ%’f@f] 1| 627,873 186,787 29.7 1| 627,873 236,408 37. 1| 627,873 261,432 41.6
[ RAE e R RAE S 1 29, 401 9,061 30.8 3 54, 435 12, 939 23. 2 51,957 20, 677 39. 8
TEE BRI R
1~9 11 12,779 5, 682 44.5 11 11,721 5,085 43. 10 12, 591 6, 686 53. 1
10~99 17| 129, 541 57, 877 44,7 20| 139,147 90, 029 64. 15| 136,014 72, 386, 53.2
100~299 4| 108,820 91, 575 84.2 3 97, 798 87,033 89. 4| 110,283 95, 401 86.5
300~499 0 0 0 - 0 0 0 1 6, 153 2,524 41.0)
5008 2| 651,192| 206,936 31.8 4| 669,280 252,074 37. 3| 677,607| 297,446 43.9
BRARIRE FRAE A
1 0 AR 0 0 0 - 0 0 0 0 0 0 -
10~29A 0 0 0 - 0 0 0 0 0 0 -
30~49A 0 0 0 - 0 0 0 0 0 0 -
50~99A 0 0 0 - 0 0 0 0 0 0 -
100~299A 0 0 0 - 0 0 0 0 0 0 -
300~499A 1 204 120 58.8 1 217 139 64. 1 325 321 98. 8
500~999A 4 2,278 1,542 67.7 4 2,278 1, 560 68. F 4 2,278 1,606 70.5
1000ALLE 30| 929,251 369,469 39.8 34| 944,852| 443,694 47. 29| 981,989| 493,171 50. 2
MABEFOE-5%EMES
e bR 1| 627,873 186,787 29.7 1| 627,873 236,408 37. 1| 627,873 261,432 41.6
3 1| 627,873 186,787 29.7 1| 627,873 236,408 37. 1| 627,873 261,432 41. 6
L, PR, WORHERECE 1| 627,873| 186,787 29.7 1| 627,873 236,408 37. 1| 627,873 261,432 41.6
R 4| 663,687 199,285 30.0 4| 663,687 251,039 37. 3| 673,860| 284,024 42.1
B S 23| 826,382 311,094 37.6 25| 828,014 386,223 46. 21| 829,244 390,775 47.1
B R - BMIG - KiEE 2| 632,348 190, 103 30.1 2| 632,554 239,930 37. 2|  635,573| 267,835 42.1
1 o 13 3 5| 715,568| 225,442 31.5 5| 708,622 293,361 41. 5| 737,070 320, 887 43.5
B, B 3| 636,422 187,820 29.5 3| 636,422 237,414 37. 2| 630,512 261,912 41.5
HFE¥, /TE 3| 632,215 190, 983 30. 2 6| 652,446 245,573 37. 4| 638,589 271,529 42.5
ARE, PRBRE 4| 643,090 197,924 30.8 4| 645,598| 250, 361 38. 3| 642,571 273,988 42.6
REEZE, Wi EHE 1| 627,873 186,787 29.7 1| 627,873 236,408 37. 1| 627,873 261,432 41.6
SFHTETE, #EF - Bl — e R 2| 631,007| 188,964 29.9 2| 631,007| 239,262 37. 2| 631,007 264,517 41.9
N, ma—e Rk 1| 627,873 186,787 29.7 2| 642,894| 237,964 37. 1| 627,873 261,432 41.6
AR — R, 1| 627,873 186,787 29.7 1| 627,873 236,408 37. 1| 627,873 261,432 41.6
BE, FEEE 1| 627,873 186,787 29.7 1| 627,873 236,408 37. 1| 627,873 261,432 41.6
R, fatk 1| 627,873 186,787 29.7 2| 637,886 236,619 37. 2| 637,886 261,454 41.0
BWHEY—ERFE 1| 627,873 186,787 29.7 1| 627,873 236,408 37. 1| 627,873 261,432 41.6
P R¥E (ficpBEShiznt o) 4| 642,925| 193,593 30. 1 2| 628,489 237,024 37. 5| 647,316 271,235 41.9
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JOZAKHERR (ERRRERE

TERNRER R %ﬁmﬁﬁnb\bﬁﬂj ETNENDERZIXERS
[Eﬁﬁ@%@#h& SHERBICHITHORBE]

(#REEE]
ERREEDORER (EEZ(ERR L)
¥ EZR
) N
& )
72
I
PRIRE S | MG | ZEi | %2R | mRREK | SR | 2ok | %2E
(%0 (N) (N) (%) (40 0N (N) (%)
ESEN 29| 229,772 45, 714 19.9 34| 181,791 44,414 24. 4
FHAMERRIRBR  Fl 25 67,027 21, 303 31.8 30 74,911 25, 441 34.0
FHA BRI (B—) 17 36,716 14,075 38.3 22 41, 269 18, 465 44.7
FHAEERMRIR (G - HE) 8 30, 311 7,228 23.8 8 33, 642 6,976 20.7
AREIRERERIR b S BRI 1| 150,211 22, 328 14.9 1 94, 346 16,510 17.5
(25 1HE]
[ RAE e R RAE S 2 12, 302 1,974 16.0 2 12, 302 2,335 19.0
CEIEL Y]
1~9 7 1,333 540 40. 5 9 1,693 712 42.1
10~99 14 29, 649 7,869 26.5 16 34, 648 8,770 25.3
100~299 4 31, 996 10, 243 32.0 5 34,521 13, 327 38.6
300~499 0 0 0 - 0 0 0 -
5008 3| 164,505 26, 439 16.1 3| 108,640 20,911 19.2
BRARBRE B
1 0 AR 0 0 0 - 0 0 0 -
10~29A 0 0 0 - 0 0 0 -
30~49A 0 0 0 - 0 0 0 -
50~99A 0 0 0 - 0 0 0 -
100~299A 0 0 0 - 0 0 0 -
300~499A 1 29 7 24.1 1 29 8 27.6
500~999A 2 103 64 62. 1 4 287 171 59. 6
1000ALLE 26| 229,640 45, 643 19.9 29| 181,475 44, 235 24. 4
IMAHEZERT O 7 % 3R
== S 3 1| 150,211 22, 328 14.9 1 94, 346 16,510 17.5
e 1] 150,211 22, 328 14.9 1 94, 346 16,510 17.5
L, PR, WORHERECE 1| 150,211 22, 328 14.9 2 97,975 17, 643 18.0
R 3| 156,992 22, 986 14.6 5/ 104,174 18, 755 18.0
B S 18| 198,751 37,033 18.6 23| 147,439 35, 339 24.0
B R - BMIG - KiEE 1| 150,211 22, 328 14.9 2 97,975 17, 643 18.0
1 o 13 3 5| 164,152 28, 009 17.1 6| 111,916 23, 963 21.4
B, B 3| 151,268 22,421 14.8 4| 104,328 17, 741 17.0
HoeE, /hoed 5| 154,455 23,034 14.9 5/ 101,505 18, 397 18.1
ARE, PRBRE 3| 156,136 24,909 16.0 3| 102,325 20, 106 19.6
REEZE, Wi EHE 1| 150,211 22, 328 14.9 2 97,975 17,643 18.0
SFHTETE, #EF - Bl — e R 1| 150,211 22, 328 14.9 2 97,975 17, 643 18.0
N, ma—e Rk 1| 150,211 22, 328 14.9 1 94, 346 16, 510 17.5
AEEBIE Y — B R, JHRE 1| 150,211 22, 328 14.9 2 97,975 17, 643 18.0
BE, FEEE 1| 150,211 22, 328 14.9 1 94, 346 16, 510 17.5
B, ik 2| 160,224 23, 679 14.8 2| 104,359 18, 151 17. 4
WEY—ERAgE 1| 150,211 22, 328 14.9 1 94, 346 16, 510 17.5
P RE (SR 0) 2| 152,512 22, 645 14.8 3| 100,276 18, 000 18.0
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OZZR(WNREH- ZLEHODI

X FR2TEEOEOEEICHELTIE,

JOZAKHERR (ERRRERE

BHALEE . TN TN DO EEEIZERO
[ ERRRETOTEHNARZOHARFHRORERICHTEZEE]

BAA - KD A-INA TR U LD B R, FERSAIF20m U LD E, ANAF0FE U LD T ENHR,

(#RRE] QLA

ERRIREOELE (BEZEEERC)
4 4 4
0 0 0
2L 2L >
= T+ =
B '3 &
1 1 it
TRIRES | RSB | Zdt | %% | RRE | ik | ot | 2% | R | Rtk | 2o | 2%
(140) (N) ) (%) (140 (N) N (%) (%0 ) 0N (%)
EoRCN 8 36, 988 15,717 42.5 8 7, 569 3, 320 43. 13 57,725 26, 638 46.
FHAGERRCRBR G 6 9,673 6, 659 68.8 6 5, 542 2,621 47. 11 28, 383 16, 881 59.
FHA MR (Hi—) 5 4,089 2, 250 55.0 5 709 382 53. 9 13, 605 6,917 50.
FAERRECRER (RE - HE) 1 5, 584 4,409 79.0 1 4,833 2,239 46. 2 14,778 9, 964 67.
EER IR G2 T SRR 0 0 0 | 0 0 0 0 0 o
[#51HE]
[E RAEFE RS 1 26, 504 8, 485 32.0 1 1,853 576 31. 1 28, 357 9,061 32.
REEBRER
1~9 3 1,417 607 42.8 3 163 103 63. ¢ 6 7,482 2,335 31. ¢
10~99 4 9,067 6, 625 73.1 4 5,553 2, 641 47. 5 17,525 11,926 68.
100~299 0 0 0 - 0 0 0 1 4,361 3, 316 76.
300~499 0 0 0 - 0 0 0 0 0 0
5008 0 0 0 - 0 0 0 0 0 0
RIRRE RIZ R
1 0 ARl 0 0 0 - 0 0 0 0 0 0
10~29A 0 0 0 - 0 0 0 0 0 0
30~49A 0 0 0 - 0 0 0 0 0 0
50~99A 0 0 0 - 0 0 0 0 0 0
100~299A 0 0 0 - 0 0 0 0 0 0
300~499A 1 160 79 49. 4 1 11 8 72. 1 171 87 50. ¢
500~999A 1 441 441 100.0 1 90 90]  100. 2 1,166 708 60.
1000ALLE 6 36, 387 15,197 41.8 6 7, 468 3, 222 43. 10 56, 388 25, 843 45.
MABEFRDOET-HERER
S, PR 0 0 0 - 0 0 0 0 0 0
¥ 0 0 0 - 0 0 0 0 0 0
L, PR, WRERICE 0 0 0 - 0 0 0 0 0 0
R 1 26, 504 8, 485 32.0 1 1,853 576 31. 1 28, 357 9,061 32.
LG 7 10, 484 7,232 69. 0 7 5,716 2, 744 48. 8 16, 835 10, 153 60.
R A - B - KBS 0 0 0 - 0 0 0 1 4,361 3, 316, 76.
g2 STAEES 0 0 0 - 0 0 0 0 0 0
TR, BE 0 0 0 - 0 0 0 1 2, 639 1,018 38.
HIZEE, /hoek 0 0 0 - 0 0 0 1 2,905 2, 660 91.
L, RBRE 0 0 0 - 0 0 0 0 0 0
RENEES, WA 0 0 0 - 0 0 0 1 2,628 430 16.
SEATIETE, HRY - Bl — e R 3 0 0 0 - 0 0 0 0 0 0
TEIR¥E, MR —E A 0 0 0 - 0 0 0 0 0 0
AR — R, e 0 0 0 - 0 0 0 0 0 0
HH, FEIEE 0 0 0 - 0 0 0 0 0 0
[, fatk 0 0 0 - 0 0 0 0 0 0
BEY—ERHE 0 0 0 - 0 0 0 0 0 0
b RE (IR0 o) 1 441 441 100. 0 1 90 90]  100. 1 531 531]  100.
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JOZAKHERR (ERRRERE

ORZERNREYR- ZZERORIMLEE ., TR TN DO EEIZE (R

[ ERRRETOTEHNARZOHARFHRORERICHTEZEE]

X FR2TEEOEOEEICHELTIE,
ENA - KBHAA-BNAIFIOFRULDBEL, FEENAF20mU LT E., ELAAIFI0ZEU LD EEAT R,

(#RRE] AXBEHLA

ERRIREOELE (T\EZ(ERRL)
4 4 4
0 0 0
2L 2L >
= T+ =
B '3 &
i3 i3 3
TRRES | xt5EH | o | 2% [RREH| 8k LEH | R | RRE | B LEH | %R
ON) (N) (%) (ON] (ON] (%) (%0 ) ON)] (%)
EoRCN 12 48, 982 20, 786 42. 12 12, 351 4,538 36.7 17 74,501 33, 229 44,
FHA BRI F 8 12,476 9, 046 72. 8 5,885 2,991 50. 13 31, 529 19, 942 63
FHA MR (Hi—) 7 6, 892 4,637 67. 7 1,052 752 71. 11 16, 751 9,978 59.
FAERRECRER (RE - HE) 1 5, 584 4, 409 79. 1 4,833 2,239 46. 2 14,778 9, 964 67.
EER IR G2 T SRR 0 0 o 0 0 0 0 0 o
[#51HE]
[E RAEFE RS 3 35, 695 11, 132 31. 3 6,292 1,422 22. 3 41, 987 12, 554, 29.
REEBRER
1~9 3 1,417 746, 52.6 3 163 114 69. 6 7,482 2,789 37.:
10~99 6 11,870 8,908 75. 6 5, 896 3,002 50. 7 20, 671 14,570 70. ¢
100~299 0 0 0 0 0 0 1 4, 361 3,316 76.
300~499 0 0 0 0 0 0 0 0 0
5008 2 9, 191 716, 7. 2 4,439 666 15. 2 13, 630 1,382 10.
RIRRE RIZ R
1 0 ARl 0 0 0 0 0 0 0 0 0
10~29A 0 0 0 0 0 0 0 0 0
30~49A 0 0 0 0 0 0 0 0 0
50~99A 0 0 0 0 0 0 0 0 0
100~299A 0 0 0 0 0 0 0 0 0
300~499A 1 160 84 52.F 1 11 9 81. 1 171 93 54.
500~999A 1 441 441]  100. 1 90 9ol 100. 2 1,166 726 62.
1000ALLE 10 48, 381 20, 261 41. 10 12, 250 4,439 36. ¢ 14 73, 164 32, 410) 44,
MABEFRDOET-HERER
S, PR 0 0 0 0 0 0 0 0 0
¥ 0 0 0 0 0 0 0 0 0
L, PR, WRERICE 0 0 0 0 0 0 0 0 0
R 1 26, 504 10, 416 39. ¢ 1 1,853 756 40. 1 28, 357 11,172 39.
LG 9 13, 287 9, 654 72. 9 6, 059 3,116 51. 10 19, 981 12, 965 64.
R A - B - KBS 0 0 0 0 0 0 1 4,361 3, 316, 76.
g2 STAEES 0 0 0 0 0 0 0 0 0
Y, EE¥E 0 0 0 0 0 0 1 2, 639 991 37.
HIZEE, /hoek 2 6, 581 823 12. 2 2, 166 703 32. 3 11, 652 4,186 35.
L, RBRE 0 0 0 0 0 0 0 0 0
RENEES, WA 0 0 0 0 0 0 1 2,628 743 28.
SEATIETE, HRY - Bl — e R 3 0 0 0 0 0 0 0 0 0
TEIR¥E, MR —E A 1 6, 186 694 11. 1 2,048 628 30. 1 8,234 1,322 16.
AR — R, e 0 0 0 0 0 0 0 0 0
HH, FEIEE 0 0 0 0 0 0 0 0 0
[, fatk 1 3, 005 22 0. 1 2,391 38 1. 1 5, 396 60 L.
BEY—ERHE 0 0 0 0 0 0 0 0 0
b RE (IR0 o) 1 441 441 100. 1 90 90 100. 1 531 531 100.




QPR NZRER-ZLERORLIHNLCER. Th TN DERZ (X
[ ERFERETOTHANARZORNEEHDREEICEITEZLE]
X FR2TEEOEOEEICHELTIE,

JOZAKHERR (ERRRERE

BAA - KD A-INA TR U LD B R, FERSAIF20m U LD E, ANAF0FE U LD T ENHR,

(#RRE] Qs A

ERRIREOELE EEE LR <)
4 4 4
0 0 0
LL LA LA
= - =
B 'S &
i 1 7
(N) ) (%) (ON] \) (%) ) 0N (%)
EoRCN 40, 377 20, 878 51. 9, 829 3, 449 35. 1 60, 746 31, 024 51
FHAGERRCRBR G 10, 057 7,079 70. 4 5,411 2,416 44.6 26, 008 16, 192 62.
FHA MR (Hi—) 4,473 2,670 59. 578 177 30.6 11, 230 6, 228 55.
FAERRECRER (RE - HE) 5, 584 4,409 79. 4,833 2,239 46. 14,778 9, 964 67.
EER IR G2 T SRR 0 0 0 0 0 0
[#51HE]
[E RAEFE RS 29, 509 13, 166 44. 4, 244 891 21. 33,753 14, 057 41.
REEBRER
1~9 601 597 99. ¢ 101 101]  100. 3,976 1,419 35
10~99 10, 267 7,115 69. 5, 484 2,457 44. 18, 656 12,232 65
100~299 0 0 0 0 4, 361 3,316 76.
300~499 0 0 0 0 0 0
5008 3,005 7 0. 2, 391 15 0. 5, 396 22 0.
RIRRE RIZ R
1 0 ARl 0 0 0 0 0 0
10~29A 0 0 0 0 0 0
30~49A 0 0 0 0 0 0
50~99A 0 0 0 0 0 0
100~299A 0 0 0 0 0 0
300~499A 160 156 97. ¢ 11 1] 100. 171 167 97.
500~999A 441 441 100. 90 90|  100. 1,166 772 66
1000ALLE 39, 776 20, 281 51. 9,728 3,348 34. 59, 409 30, 085 50.
MABEFRDOET-HERER
S, PR 0 0 0 0 0 0
¥ 0 0 0 0 0 0
PR, B, WOFIMRECE 0 0 0 0 0 0
R 26, 504 13,159 49. 1,853 876 47. 3 28, 357 14,035 49.5
LG 10, 868 7,712 71. 5, 585 2, 558 45. 17, 088 10,511 61.5
R A - B - KBS 0 0 0 0 4,361 3,316 76.
g2 STAEES 0 0 0 0 0 0
TR, BE 0 0 0 0 2, 639 480 18.
HIZEE, /hoek 0 0 0 0 2,905 2, 660 91.6
L, RBRE 0 0 0 0 0 0
RENEES, WA 0 0 0 0 0 0
SEATIETE, HRY - Bl — e R 3 0 0 0 0 0 0
TEIR¥E, MR —E A 0 0 0 0 0 0
AR — R, e 0 0 0 0 0 0
HH, FEIEE 0 0 0 0 0 0
[, fatk 3,005 7 0. 2,391 15 0. 5, 396 22 0.
BEY—ERHE 0 0 0 0 0 0
b RE (IR0 o) 441 441 100. 90 90 100. 531 531 100.




JOZAKHERR (ERRRERE

RLENRER RLERO :ﬁ%nb\bﬁﬂj ETNENDERZIXERS
[Eﬁﬁ@%w#h& SHERBICHITHORBE]

X ER2TEEOEOEHICHLTIE,
A KBEDA - BNAIFIORULEDBR, FEENAF20m U LD T HE., ELAAAIFI0HEU LD K EATR,

[BREE] AQFEELSA QLA
EREREOBET
2 4
9 9
i ik
I8 2L
E k
£S &
P P
PRERE S | RREF | 2B | Z2F IRIRES | x| ZEh | 22%
(%0 (N) (N) (%) (%0 (N) 0N (%)
ESEN 13 25, 825 3,443 13.3 16 14, 205 3,023 21.3
FHAMERRIRBR  Fl 10 16, 816 2,316 13.8 14 9,961 1,748 17.5
FHA BRI (B—) 6 3, 259 1,015 311 11 3,271 1,091 33.4
FHAEEREMRR (RE - HE) 4 13, 557 1,301 9.6 3 6, 690 657 9.8
%@Eﬂ%l@%é‘%%ﬁi?ﬁ TR 0 0 0 _ 0 0 o _
(25 1HE]
5] R R R A 2 8,723 1,018 1.7 2 4, 244 1,275 30.0
TEE BRI R
1~9 3 776 58 7.5 5 971 116 11.9
10~99 6 13,279 2,017 15.2 7 7,133 1,346 18.9
100~299 2 3,047 350 1.5 2 1,857 286 15.4
300~499 0 0 0 - 0 0 0 -
5008 1 6,434 395 6.1 1 2,391 751 31.4
BRARIRE FRAE A
1 0 AR 0 0 0 - 0 0 0 -
10~29A 0 0 0 - 0 0 0 -
30~49A 0 0 0 - 0 0 0 -
50~99A 0 0 0 - 0 0 0 -
100~299A 0 0 0 - 0 0 0 -
300~499A 1 29 7 24.1 1 11 8 72.7
500~999A 1 81 3 3.7 1 44 0 0.0,
1000ALLE 11 25,715 3,433 13.4 14 14, 150 3,015 21.3
MABEFOE-5%EMES
== S 3 0 0 0 - 0 0 0 -
e 0 0 0 - 0 0 0 -
R, R, WREREEE 0 0 0 - 0 0 0 -
R 2 3,083 658 21.3 3 2,791 810 29.0)
B S 7 11, 830 1, 404 11.9 9 6,943 982 14.1
B R - BMILG - KiEE 0 0 0 - 0 0 0 -
1 o 13 3 1 1, 559 623 40.0 1 385 379 98. 4
B, B 1 666 48 7.2 1 443 48 10.8
HoeE, /hoed 0 0 0 - 1 118 60 50. 8
ARE, PRBRE 0 0 0 - 0 0 0 -
RENFEXE, MRk 0 0 0 - 1 333 53 15.9
FARAFZE, WY - Bl — e A 0 0 0 - 0 0 0 -
ik, KEh—e R 0 0 0 - 0 0 0 -
AEEBIE Y — B R, BRACE 0 0 0 - 0 0 0 -
BE, FEEE 0 0 0 - 0 0 0 -
[, fatk 1 6,434 395 6.1 1 2, 391 751 31. 4
BAY—EAHE 0 0 0 - 0 0 0 -
PF—ER¥E fsEINRNE D) 1 2, 253 315 14.0 1 1,294 226 17.5




JOZAKHERR (ERRRERE

PR(NREH R %?ﬂw)%ﬁﬂb\bﬁﬂj ENENOEEE LR
[Eﬁﬁ@%w#h& SREEITEITHR

(#HExEE]
ERREEDORER (T\EZEIEBRC)
H N i
A 1% 73
vy 3 )
h
RS | 5 ZRR | RRE | (BB | TRE | ZRE |RRER | B | ZRER | Z0%
(%0 (N) (%) | @0 0N (N) %) | (%0 0N (N (%)
ESEN 27| 186,947 41. 28| 187,638 79, 607 42.4 27| 208,557 88, 904 42.
FHAMERRIRBR  Fl 25| 169,836 43. 25| 163,673 74, 485 45. 24| 171,565 80, 481 46.
FHA BRI (B—) 19| 147,997 45. 19| 143,571 67, 583 47. 17| 145,070 71, 856 49.
FHAEERMRIR (G - HE) 6 21, 839 33. 6 20, 102 6, 902 34.° 7 26, 495 8, 625 32.6
4 [E f B (e R o A S (R B AR 0 0 0 0 0 0 0 0
(25 1HE]
[ RAE e R RAE S 1 16, 894 20. 2 23, 748 4,918 20. 2 36, 775 8,208 22.
CEIEL Y]
1~9 8 3,179 23. 8 2, 962 520 17. 8 3,175 875 27.
10~99 13 52, 789 23. 13 48, 580 13, 658 28. 12 51,475 17, 761 34.
100~299 4| 106,045 54. 4| 106,070 57, 292 54. 4] 107,505 57, 481 53.
300~499 0 0 0 0 0 0 0 0
5008 1 8, 040 50. 2 13,132 3,292 25. 2 16, 481 4,607 28.
BRARIRE FRAE A
1 0 A 0 0 0 0 0 0 0 0
10~29A 0 0 0 0 0 0 0 0
30~49A 0 0 0 0 0 0 0 0
50~99A 0 0 0 0 0 0 0 0
100~299A 0 0 0 0 0 0 0 0
300~499A 1 109 15. 1 109 24 22. 1 105 44 41.
500~999A 3 409 24. 3 409 98 24. 3 409 101 24.
1000ALLE 23| 186,429 41. 24| 187,120 79, 485 42. 23| 208,043 88, 759 42.
MABEFOE-5%EMES
== S 3 0 0 0 0 0 0 0 0
e 0 0 0 0 0 0 0 0
L, PR, WORHERECE 0 0 0 0 0 0 0 0
e 3 19, 687 17. 3 19, 687 5, 063 25. 2 31, 784 8,216 25.
Pl 18| 147,742 44, 18| 143,624 65, 899 45. 16| 144,391 69, 796 48.°
B R - BMIG - KiEE 1 2,126 42. 1 2,151 918 42. 1 3,586 1,093 30.
1 o 13 3 4 38, 760 30. ¢ 4 36, 998 11,349 30. 4 42,470 16,513 38. ¢
B, B 1 979 13. 1 979 132 13. 1 979 132 13.
HoeE, /hoed 1 1,689 53. 1 309 37 12. 2 3,298 1,084 32. ¢
ARE, PRBRE 1 5, 095 39. 2 6,476 3, 103 47. 1 5,095 2, 405 47.
REEZE, Wi EHE 0 0 0 0 0 0 0 0
SFHTETE, #EF - Bl — e R 1 1,588 3. 1 1,588 54 3. 1 1,588 53 3.
N, ma—e Rk 0 0 0 0 0 0 0 0
AEEBIE Y — B R, JHRE 0 0 0 0 0 0 0 0
BE, FEEE 0 0 0 0 0 0 0 0
B, ik 0 0 1 6, 854 73 1. 1 6, 854 28 0.
BAY—EAHE 0 0 0 0 0 0 0 0
P—ER¥E fisEI RN E D) 1 984 27. 0 0 0 1 984 286 29.




JOZAKHERR (ERRRERE

QAZPR(NREY ZDEHDK %nb\bﬁﬂj ETNENDERZIXERS
[ ERRBREONARTHREICETHRBE ]

(#HExEE]
ERREEDORER (E’EZ(ERR L)
¥ EZR
1 7
& )
7
I
PRIRFE S | 5t | ZoE | Z2F | RBREK | 5T | ek | =2%
(%0 (N) (N) (%) (40 (N) (ON] (%)
ESEN 29| 239,825 69, 552 29.0 32| 243,943 74, 104 30. 4
AR A 26| 208,839 65, 385 31.3 29| 212,957 69, 510 32.6
FHA BRI (B—) 18| 170, 150 59, 598 35.0 21| 173,232 64, 327 37.1
FHAEERMRIR (G - HE) 8 38, 689 5, 787 15.0 8 39, 725 5,183 13.0
4 [E f B (e R o A S (R B AR 0 0 0 _ 0 0 0 _
(25 1HE]
[ RAE e R RAE S 2 30, 769 3,992 13.0 2 30, 769 4,431 14.4
TEE BRI R
1~9 7 2, 888 449 15.5 8 2, 998 513 17. 1
10~99 14 60, 638 13,011 21.5 16 65, 174 13,323 20. 4
100~299 5/ 137,608 48,922 35. 6 5/ 137,080 52, 659 38.4
300~499 0 0 0 - 0 0 0 -
5008 2 14,776 3, 575 24.2 2 14,776 3,653 24.7
BRARIRE FRAE A
1 0 AR 0 0 0 - 0 0 0 -
10~29A 0 0 0 - 0 0 0 -
30~49A 0 0 0 - 0 0 0 -
50~99A 0 0 0 - 0 0 0 -
100~299A 0 0 0 - 0 0 0 -
300~499A 1 107 35 32.7 1 107 39 36. 4
500~999A 2 292 68 23.3 3 402 105 26. 1
1000ALLE 26| 239,426 69, 449 29.0 28| 243,434 73, 960 30. 4
MABEFOE-5%EMES
== S 3 0 0 0 - 0 0 0 -
e 0 0 0 - 0 0 0 -
L, PR, WORHERECE 0 0 0 - 0 0 0 -
e 2 26, 003 3,785 14.6 2 25, 475 4,146 16.3
B S 18| 181,023 59, 112 32.7 21| 184,105 64, 007 34.8
B R - BMIG - KiEE 0 0 0 - 0 0 0 -
1 o 13 3 4 40, 032 12, 064 30. 1 4 40, 032 12,814 32.0
B, B 2 5,174 153 3.0 2 6,978 160 2.3
HoeE, /hoed 3 5, 883 538 9.1 4 6, 332 717 11.3
ARE, PRBRE 1 4,985 1,593 32.0 2 5,190 771 14.9
RENFEXE, MRk 0 0 0 - 0 0 0 -
FARMEZE, WP - Bl — e A 1 2,016 16 0.8 1 2,016 16 0.8
N, ma—e Rk 0 0 0 - 0 0 0 -
AEEBIE Y — B R, JHRE 0 0 0 - 0 0 0 -
BE, FEEE 0 0 0 - 0 0 0 -
B, ik 1 6, 854 397 5.8 1 6, 854 475 6.9
BAY—EAHE 0 0 0 - 0 0 0 -
b RE (IR O) 1 5,205 112 2.2 1 5,205 132 2.5
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QOZPR(WNEEHEY - ZREYORALEH ., ThENOERZFIXER
[ ERRBREONARTHREICETHRBE ]

X ER2TEEOEOEHICHLTIE,
A KBEDA - BNAIFIORULEDBR, FEENAF20m U LD T HE., ELAAAIFI0HEU LD K EATR,

(#EEEE] Q8L A

EERIREDIEER (ME§MR<)
4 4
0 0 o
W% % %
A LA A
E E k
5 178 o
s e it
TRERE S | B8 | ZRE | SR RBE S| BT | RE | 2R MRS JIREK | SRE | 2%
(130 (N) (N) (%) (%0 (N) (N) (%) (%0 (N) (N) (%)
ESBEN 5 954 150 15.7 7 21,001 4,932 23.5 11 27,794 6, 897 24,
AR A 4 156 16 10.3 6 5,541 1,629 29. 4 10 11,536 3, 460, 30.
FAA TR (B —) 3 37 11 29.7 5 2,798 1,333 47.6 8 6, 541 2, 266 34.
AR (A - HA) 1 119 5 4.2 1 2,743 296 10.8 2 4,995 1, 194] 23.
AINLLS S
A EI R FE AR I 1 2 B S A R LRI 0 0 0 _ 0 0 0 _ 0 0 0
[Z%1E]
[ B R AR ke & 1 798 134 16. 8 1 15, 460 3, 303 21.4 1 16, 258 3,437 21.
HEE BRI
1~9 1 2 0 0.0 2 212 19 9.0 4 2,593 217 8.
10~99 3 154 16 10. 4 4 5,329 1,610 30. 2 5 6,810 2, 350 34,
100~299 0 0 0 - 0 0 0 - 1 2,133 893 41.
300~499 0 0 0 - 0 0 0 - 0 0 0
5008k 0 0 0 - 0 0 0 - 0 0 0
WIRIEE RAZ R
1 0 A 0 0 0 - 0 0 0 - 0 0 0
10~29A 0 0 0 - 0 0 0 - 0 0 0
30~49A 0 0 0 - 0 0 0 - 0 0 0
50~99A 0 0 0 - 0 0 0 - 0 0 0
100~299A 0 0 0 - 0 0 0 - 0 0 0
300~499A 0 0 0 - 1 88 15 17.0 1 88 15 17.
500~999A 1 2 0 0.0 1 124 4 3.2 1 126 4 3.
1000ALE 4 952 150 15.8 5 20, 789 4,913 23.6 9 27, 580 6,878 24,

MAEEXFDET- 5 FIEH

== S 3 0 0 0 - 0 0 0 - 0 0 0
e 0 0 0 - 0 0 0 - 0 0 0
R, R, WREREEE 0 0 0 - 0 0 0 - 0 0 0
R 1 798 134 16.8 1 15, 460 3,303 21.4 1 16, 258 3,437 21.
B S 3 122 5 4.1 5 4, 269 745 17.5 5 4, 405 750 17.
B R - BMILG - KiEE 0 0 0 - 0 0 0 - 1 2,133 893 41.
1 o 13 3 1 34 11 32.4 1 1,272 884 69. 5 1 1, 306 895 68.5
B, B 0 0 0 - 0 0 0 - 1 979 132 13.5
HoeE, /hoed 0 0 0 - 0 0 0 - 1 1,313 724 55.
ARE, PRBRE 0 0 0 - 0 0 0 - 0 0 0
REEZE, Wi EHE 0 0 0 - 0 0 0 - 1 1, 400 66 4.
FARFTE, P - BT — e R 0 0 0 - 0 0 0 - 0 0 0
min¥E, K- r¥ 0 0 0 - 0 0 0 - 0 0 0
AEEBIE Y — B R, BRACE 0 0 0 - 0 0 0 - 0 0 0
BE, FEEE 0 0 0 - 0 0 0 - 0 0 0
[, fatk 0 0 0 - 0 0 0 - 0 0 0
BAY—EAHE 0 0 0 - 0 0 0 - 0 0 0
P RE (oS hRn b 0) 0 0 0 - 0 0 0 - 0 0 0
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JOZAKHERR (ERRRERE

ORZERNREYR- ZZERORIMLEE ., TR TN DO EEIZE (R

[ EREBREDNABRSHREIZHITEH
X ER2TEEOEOEHICHLTIE,
A KBAA - NAIFIORULEDER. FE

(HEKEE] AXBILA

ZAT
X5

]

WA A0 L ED R, ZLAAIF40iE L E DT IEA TR,

ERREEDORER (EBEIEFERC)
4 4 4
9 9 9
k- k [
] g 5
P P 7
RARELL TRERESL | x5 B | Z2EK DE | RBEEH | HRE | ZRER | =%
(%0 (N) ON) %) (%0 (ON) ON] (%)
ESEN 1,122 10 23, 944 6, 794 28. 13 29, 592 8,123 27.
FHAMERRIRBR  Fl 160 7 5, 754 1, 862 32. 10 10, 440 3,008 28
FHA BRI (B—) 41 6 3,011 1, 566 52. 8 5, 445 1,814 33. 3
A MHEERR (BE - HE) 119 1 2,743 296 10. 2 4,995 1,194 23.
4 [E f B (e R o A S (R B AR 0 0 0 0 0 0 o
(25 1HE]
5] R R R A 957 2 17,772 4,728 26. 6 2 18, 729 4,911 26.
TEE BRI R
1~9 2 2 212 26 12. 4 2, 593 263 10.
10~99 163 6 5, 960 2, 040 34, ¢ 6 6,137 2, 056 33.
100~299 0 0 0 0 1 2,133 893 41.
300~499 0 0 0 0 0 0 0
5008 159 1 2,312 64 2. 1 2,471 66, 2.
BRARIRE FRAE A
1 0 AAH 0 0 0 0 0 0 0
10~29A 0 0 0 0 0 0 0
30~49A 0 0 0 0 0 0 0
50~99A 0 0 0 0 0 0 0
100~299A 0 0 0 0 0 0 0
300~499A 0 1 88 23 26. 1 88 23 26.
500~999A 2 1 124 3 2. 1 126 3 2.
1000ALLE 1,120 8 23, 732 6, 768 28. 11 29, 378 8,097 27.
MABEFOE-5%EMES
== S 3 0 0 0 0 0 0 0
e 0 0 0 0 0 0 0
R, R, WREREEE 0 0 0 0 0 0 0
R 798 1 15, 460 4, 664 30. ¢ 1 16, 258 4, 845 29.
B S 131 7 4,900 1,182 24. 7 5, 045 1,187 23.
B R - BMILG - KiEE 0 0 0 0 1 2,133 893 41.
1 o 13 3 34 1 1,272 884 69. ¢ 1 1, 306 895 68.
B, B 0 0 0 0 1 979 132 13.
HoeE, /hoed 4 1 213 33 15. 1 217 33 15.
ARE, PRBRE 0 0 0 0 0 0 0
RENFEXE, MRk 0 0 0 0 1 1, 400 105 7.
FARAFZE, WY - Bl — e A 0 0 0 0 0 0 0
min¥E, K- r¥ 0 0 0 0 0 0 0
AEEBIE Y — B R, BRACE 0 0 0 0 0 0 0
BE, FEEE 0 0 0 0 0 0 0
[, fatk 159 1 2,312 64 2. 1 2,471 66, 2.
BAY—EAHE 0 0 0 0 0 0 0
P RE (oS hRn b 0) 0 0 0 0 0 0 0




ORZERNREYR- ZZERORIMLEE ., TR TN DO EEIZE (R
[ ERFRBREONARZHREICEITHZ

X ER2TEEOEOEHICHLTIE,
A KBAA - NAIFIORULEDER. FE

(#EEEE] Qffid‘A

ZAT
X5

]

JOZAKHERR (ERRRERE

WA A0 L ED R, ZLAAIF40iE L E DT IEA TR,

EREREOBET (BEE R
4 4 4
9 9 9
k- k [
] g 5
P P 7
RARELL REREH | ZDEHK DE | RBEEH | HRE | ZRER | =%
(N) ON) %) (%0 (ON) ON] (%)
ESEN 1,123 23, 143 7,191 31. 11 28, 686 9, 170 32.
FHAMERRIRBR  Fl 161 5 4,953 1,416 28.6 8 9, 534 3,181 33.
FHA BRI (B—) 37 2,210 1,120 50. 6 4,539 1,987 43.
A MHEERR (BE - HE) 124 2,743 296 10. 2 4,995 1,194 23.
4 [E f B (e R o A S (R B AR 0 0 0 0 0 o
(25 1HE]
5] R R R A 957 17,772 5, 560 31. 2 18, 729 5,774 30.
TEE BRI R
1~9 2 212 45 21. 3 1,193 177 14.
10~99 164 5,159 1,586 30. 5 6, 631 2, 326 35.
100~299 0 0 0 1 2,133 893 41.
300~499 0 0 0 0 0 0
5008 159 2,312 27 1. 1 2,471 28 1.
BRARIRE FRAE A
1 0 AAH 0 0 0 0 0 0
10~29A 0 0 0 0 0 0
30~49A 0 0 0 0 0 0
50~99A 0 0 0 0 0 0
100~299A 0 0 0 0 0 0
300~499A 0 88 39 44. 1 88 39 44.
500~999A 2 124 6 4. 1 126 6 4.
1000ALLE 1,121 22,931 7,146 31. 9 28, 472 9,125 32.
MABEFOE-5%EMES
== S 3 0 0 0 0 0 0
e 0 0 0 0 0 0
R, R, WREREEE 0 0 0 0 0 0
R 798 15, 460 5,533 35. 1 16, 258 , 746 35.
B S 127 4, 099 747 18. 5 4,226 752 17.
B R - BMILG - KiEE 0 0 0 1 2,133 893 41.
1 o 13 3 34 1,272 884 69. ¢ 1 1, 306 895 68. 5
B, B 0 0 0 1 979 132 13.
HoeE, /hoed 5 0 0 1 1,313 724 55.
ARE, PRBRE 0 0 0 0 0 0
RENFEXE, MRk 0 0 0 0 0 0
FARAFZE, WY - Bl — e A 0 0 0 0 0 0
min¥E, K- r¥ 0 0 0 0 0 0
AEEBIE Y — B R, BRACE 0 0 0 0 0 0
BE, FEEE 0 0 0 0 0 0
[, fatk 159 2,312 27 1.2 1 2,471 28 1.
WEY—ERAgE 0 0 0 0 0 0
P RE (oS hRn b 0) 0 0 0 0 0 0




JOZAKHERR (ERRRERE

RLENRER RLERO :ﬁ%nb\bﬁﬂj ETNENDERZIXERS
[Eﬁﬁ@%w#h& SHERBICHITHORBE]

X ER2TEEOEOEHICHLTIE,
A KBEDA - BNAIFIORULEDBR, FEENAF20m U LD T HE., ELAAAIFI0HEU LD K EATR,

[(BHEEE] AFEELIA QLA
EREREOBET
2 4
9 9
i 5
I8 8
E E
i L
P 43
TRBRE S| SE | ZREs | 2% TREBREH | B | ZRE | Z2%
(%0 (N) (N) (%) (%0 (N) (ON] (%)
ESEN 14 51, 766 5,995 11.6 14 37,339 5,528 14.8
FHAMERRIRBR  Fl 11 23,975 2,221 9.3 12 19, 567 2, 166 1.1
FHA BRI (B—) 7 8,114 1,766 21.8 9 11, 142 1,737 15. 6
FHAEEREMRR (RE - HE) 4 15, 861 455 2.9 3 8, 425 429 5.1
%@Eﬂ%l@%é‘%%ﬁi?ﬁ TR 0 0 0 _ 0 0 0 _
(25 1HE]
5] R R R A 2 27,217 3,599 13.2 2 17,772 3, 362 18.9
TEE BRI R
1~9 3 1,677 108 6.4 4 2,572 152 5.9
10~99 7 14, 646 1,986 13.6 6 11,313 1,722 15.2
100~299 2 8,226 302 3.7 2 5, 682 292 5.1
300~499 0 0 0 - 0 0 0 -
5008 1 3, 302 4 0.1 1 2,312 423 18.3
BRARIRE FRAE A
1 0 AR 0 0 0 - 0 0 0 -
10~29A 0 0 0 - 0 0 0 -
30~49A 0 0 0 - 0 0 0 -
50~99A 0 0 0 - 0 0 0 -
100~299A 0 0 0 - 0 0 0 -
300~499A 1 130 35 26.9 1 88 34 38. 6
500~999A 1 191 17 8.9 1 124 16 12.9
1000ALLE 12 51, 445 5,943 11.6 12 37,127 5,478 14.8
MABEFOE-5%EMES
== S 3 0 0 0 - 0 0 0 -
e 0 0 0 - 0 0 0 -
R, R, WREREEE 0 0 0 - 0 0 0 -
R 2 25, 996 3,785 14.6 2 17,003 3,129 18.4
B S 8 12,471 1,015 8.1 7 10, 253 982 9.6
B R - BMILG - KiEE 0 0 0 - 0 0 0 -
1 o 13 3 1 2, 496 1,023 41.0 1 1,272 790 62.1
B, B 1 1,356 56 4.1 1 965 56 5.8
HoeE, /hoed 0 0 0 - 1 213 22 10.3
ARE, PRBRE 0 0 0 - 0 0 0 -
RENFEXE, MRk 0 0 0 - 1 1, 395 46 3.3
FARAFZE, WY - Bl — e A 1 2,016 16 0.8 0 0 0 -
ik, KEh—e R 0 0 0 - 0 0 0 -
AEEBIE Y — B R, BRACE 0 0 0 - 0 0 0 -
BE, FEEE 0 0 0 - 0 0 0 -
[, fatk 1 3, 302 4 0.1 1 2,312 423 18.3
BAY—EAHE 0 0 0 - 0 0 0 -
PF—ER¥E fsEINRNE D) 1 6, 145 112 1.8 1 4,139 102 2.5




JOZAKHERR (ERRRERE

QERRKRECLDORZZEDES (SEE)
[ ERFRRECEDODABRZHREICEITERZEIE ]

(BRRE £4] A, A QXBHA
R O FEIE R By R TR AR (%) B RS, TR AR (%)
0 2 4 6 8 0 2 4 6 8
§ 1 1 1 1 e § 1 1 1 1 b3
%= 2 § § § § [A] [ 2 § § § § [a]
B 0 4 6 8 1 & i3 0 4 6 8 1 &
R % 0 0 0 0 [ES % 0 0 0 0
63 % % % 0 53 % % % 0
% % %‘ %
2 K 48 5 4 7 7 12 13 53 6 6 3 9 15 14
100.0| 10.4| 8.3 14.6| 14.6] 25.0| 27.1 100.0| 11.3| 11.3]| 5.7| 17.0] 28.3| 26.4
FEA R R B 45 5 2 7 7 11 13 48 4 4 3 9 14 14
100.0| 11.1| 4.4| 15.6| 15.6| 24.4| 28.9 100.0| 8.3] 83| 6.3] 18.8] 29.2| 29.2
FAA R (F—) 35 3 2 4 5 10 11 37 2 4 1 7 12 11
100.0| 8.6| 5.7| 11.4| 14.3| 28.6| 31.4 100.0| 5.4| 10.8| 2.7| 18.9| 32.4| 29.7
FLEHEFEERR (RE - EE) 10 2 - 3 2 1 2 11 2 - 2 2 2 3
100.0] 20.0 -] 30.0] 20.0] 10.0] 20.0 100.0| 18.2 -| 18.2| 18.2| 18.2| 27.3
AR R IR o 8 S R R (R B 1 - 1 - - - - 1 - 1 - - - -
[Z%1{#] | 100.0 -1100.0 - - - - 100. 0 -1100.0 - - - -
[ R ORIk A 1 - 1 - - - - 3 2 1 - - - -
100. 0 -1100.0 - - - - 100.0| 66.7| 33.3 - - - -
PP B AR
1 0 AR 1 - - - - - 1 1 - - - - - 1
100. 0 - - - - -1.100.0 100. 0 - - - - -1100.0
10~29A - - - - - - - - - - - - - -
30~49A - - - - - - - - - - - - - -
50~9 9 A - - - - - - - - - - - - - -
100~299A 1 - - - - 1 1 - - - - - 1
100. 0 - - - - -1.100.0 100. 0 - - - - -1100.0
300~499A 2 - - 1 - - 1 2 - - - 1 - 1
100. 0 - -1 50.0 - -1 50.0 100. 0 - - -] 50.0 -] 50.0
500~999A 5 1 - - - 3 1 5 - 1 - - 3 1
100.0] 20.0 - - -1 60.0] 20.0 100. 0 -1 20.0 - -] 60.0] 20.0
1, 000 ALLE 39 4 4 6 7 9 9 44 6 5 3 8 12 10
100.0] 10.3] 10.3] 15.4| 17.9] 23.1]| 23.1 100.0| 13.6] 11.4] 6.8] 18.2] 27.3| 22.7
INEZFEFT O F 7= 2 FEA R
JEE, PRGE 1 - 1 - - - - 1 - 1 - - - -
100. 0 -1100.0 - - - - 100. 0 -1 100.0 - - - -
e 1 - 1 - - - - 1 - 1 - - - -
100. 0 -1100.0 - - - - 100. 0 -1 100.0 - - - -
PR3, BRACE, RORIERICE 2 - 1 - - - 1 2 - 1 - - - 1
100. 0 -] 50.0 - - -1 50.0 100. 0 -| 50.0 - - -| 50.0
e 6 - 2 1 1 - 2 6 - 2 1 1 - 2
100. 0 -| 33.3] 16.7] 16.7 -] 33.3 100. 0 -| 33.3] 16.7| 16.7 -| 33.3
e 32 4 2 4 4 9 9 34 3 4 2 6 10 9
100.0| 12.5| 6.3] 12.5| 12.5| 28.1| 28.1 100.0| 8.8| 11.8| 5.9| 17.6] 29.4| 26.5
BR - AR - B - KB 3 - 1 - 1 - 1 3 - 1 - 1 - 1
100. 0 -] 33.3 -] 33.3 -] 33.3 100. 0 33.3 -| 33.3 -| 33.3
1 o 5 3 6 - 2 - 1 2 1 6 - 1 - 1 3 1
100. 0 -] 33.3 -] 16.7| 33.3] 16.7 100. 0 - 16.7 -| 16.7| 50.0| 16.7
TR, TEYE 4 1 2 - - - 1 4 1 2 - - - 1
100.0| 25.0| 50.0 - - -1 25.0 100.0| 25.0| 50.0 - - -] 25.0
e, /e 7 - 1 - - 2 4 10 1 2 - 1 2 4
100. 0 - 14.3 - -] 28.6| 57.1 100.0| 10.0| 20.0 -| 10.0| 20.0| 40.0
GRLEE, PRIRCE 5 - 1 1 1 1 1 5 - 1 - 1 2 1
100. 0 -] 20.0] 20.0[ 20.0] 20.0| 20.0 100. 0 -] 20.0 -| 20.0] 40.0| 20.0
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